

Informazione Regolamentata n. 20250-68-2025

Data/Ora Inizio Diffusione 1 Settembre 2025 17:30:16

**Euronext Milan** 

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

209521

Utenza - referente : TECHNOPROBEN05 - Facciotti

Tipologia : REGEM

Data/Ora Ricezione : 1 Settembre 2025 17:30:16

Data/Ora Inizio Diffusione : 1 Settembre 2025 17:30:16

Oggetto : Technoprobe: weekly press release on treasury

shares buyback plan - September 1st, 2025

# Testo del comunicato

Vedi allegato









### PRESS RELEASE

# WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). September 1st, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from August 25, 2025 to August 29, 2025, of n. 580,007 ordinary shares (equal to 0.08879% of the share capital) at the weighted average price of Euro 6.809456 for a total value of EUR 3,951,687.32.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
25/08/2025	103,000	6.73531	693,736.93
26/08/2025	104,007	6.74408	701,431.53
27/08/2025	138,000	6.82472	941,811.36
28/08/2025	110,000	6.87925	756,717.50
29/08/2025	125,000	6.86392	857,990.00

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at August 29, 2025 the Company owns 8,907,458 ordinary shares (equal to 1.36354% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









#### Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

### Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

## **Technoprobe Group**

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com









Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZHT3AL	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.705	322	2159.01
1ZAZHT3AM	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.705	169	1133.145
1ZAZHT3AN	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.71	100	671
1ZAZHT3AO	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.71	187	1254.77
1ZAZHT3AP	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.71	960	6441.6
1ZAZHT3AQ	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.715	204	1369.86
1ZAZHT3AR	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.715	179	1201.985
1ZAZHT3AS	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.715	636	4270.74
1ZAZHT3AT	25/08/2025	12:17:45	Buy	IT.ico	MTA	TPRO	6.715	7,243	48636.75
1ZAZHT3AU	25/08/2025	12:17:49	Buy	IT.ico	MTA	TPRO	6.71	163	1093.73
1ZAZHT3AV	25/08/2025	12:17:49	Buy	IT.ico	MTA	TPRO	6.715	9,837	66055.46
1ZAZHT3AW	25/08/2025	12:17:53	Buy	IT.ico	MTA	TPRO	6.715	10,000	67150
1ZAZHT3AZ	25/08/2025	12:18:06	Buy	IT.ico	MTA	TPRO	6.71	51	342.21
1ZAZHT3B0	25/08/2025	12:18:06	Buy	IT.ico	MTA	TPRO	6.715	3,762	25261.83
1ZAZHT3B1	25/08/2025	12:18:06	Buy	IT.ico	MTA	TPRO	6.715	1,187	7970.705
1ZAZHT3FP	25/08/2025	12:23:15	Buy	IT.ico	MTA	TPRO	6.71	1,000	6710
1ZAZHT3K4	25/08/2025	12:27:51	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT3KB	25/08/2025	12:27:56	Buy	IT.ico	MTA	TPRO	6.735	1,000	6735
1ZAZHT3UR	25/08/2025	12:38:40	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT3VV	25/08/2025	12:39:41	Buy	IT.ico	MTA	TPRO	6.74	5	33.7
1ZAZHT3XL	25/08/2025	12:41:32	Buy	IT.ico	MTA	TPRO	6.74	80	539.2
1ZAZHT3ZC	25/08/2025	12:45:50	Buy	IT.ico	MTA	TPRO	6.74	13	87.62
1ZAZHT3ZD	25/08/2025	12:45:50	Buy	IT.ico	MTA	TPRO	6.74	987	6652.38
1ZAZHT416	25/08/2025	12:47:59	Buy	IT.ico	MTA	TPRO	6.75	161	1086.75
1ZAZHT41K	25/08/2025	12:48:49	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT42P	25/08/2025	12:50:22	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT47U	25/08/2025	12:59:32	Buy	IT.ico	MTA	TPRO	6.745	257	1733.465
1ZAZHT48D	25/08/2025	13:01:17	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT4AB	25/08/2025	13:02:45	Buy	IT.ico	MTA	TPRO	6.74	155	1044.7
1ZAZHT4NA	25/08/2025	13:19:02	Buy	IT.ico	MTA	TPRO	6.75	500	3375
1ZAZHT4NB	25/08/2025	13:19:02	Buy	IT.ico	MTA	TPRO	6.75	500	3375
1ZAZHT4NI	25/08/2025	13:19:27	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT4O2	25/08/2025	13:19:55	Buy	IT.ico	MTA	TPRO	6.75	126	850.5
1ZAZHT4PL	25/08/2025	13:21:30	Buy	IT.ico	MTA	TPRO	6.75	916	6183
1ZAZHT4PM	25/08/2025	13:21:30	Buy	IT.ico	MTA	TPRO	6.75	84	567
1ZAZHT4RG	25/08/2025	13:25:35	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT4SG	25/08/2025	13:26:33	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740









1ZAZHT4ZX	25/08/2025	13:36:03	Buy	IT.ico	MTA	TPRO	6.74	158	1064.92
1ZAZHT4ZY	25/08/2025	13:36:03	Buy	IT.ico	MTA	TPRO	6.74	842	5675.08
1ZAZHT51Y	25/08/2025	13:41:04	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT541	25/08/2025	13:45:57	Buy	IT.ico	MTA	TPRO	6.74	1	6.74
1ZAZHT542	25/08/2025	13:45:57	Buy	IT.ico	MTA	TPRO	6.74	999	6733.26
1ZAZHT563	25/08/2025	13:49:56	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT57O	25/08/2025	13:52:55	Buy	IT.ico	MTA	TPRO	6.735	339	2283.165
1ZAZHT58Y	25/08/2025	13:53:32	Buy	IT.ico	MTA	TPRO	6.735	65	437.775
1ZAZHT5AE	25/08/2025	13:55:58	Buy	IT.ico	MTA	TPRO	6.735	850	5724.75
1ZAZHT5DA	25/08/2025	14:01:03	Buy	IT.ico	MTA	TPRO	6.745	184	1241.08
1ZAZHT5DX	25/08/2025	14:01:52	Buy	IT.ico	MTA	TPRO	6.745	221	1490.645
1ZAZHT5DY	25/08/2025	14:01:52	Buy	IT.ico	MTA	TPRO	6.745	468	3156.66
1ZAZHT5FZ	25/08/2025	14:03:23	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT5G1	25/08/2025	14:03:23	Buy	IT.ico	MTA	TPRO	6.745	250	1686.25
1ZAZHT5KX	25/08/2025	14:10:16	Buy	IT.ico	MTA	TPRO	6.745	54	364.23
1ZAZHT5KY	25/08/2025	14:10:30	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT5PN	25/08/2025	14:14:43	Buy	IT.ico	MTA	TPRO	6.75	66	445.5
1ZAZHT5PO	25/08/2025	14:14:43	Buy	IT.ico	MTA	TPRO	6.75	175	1181.25
1ZAZHT5PP	25/08/2025	14:14:43	Buy	IT.ico	MTA	TPRO	6.75	147	992.25
1ZAZHT5Q4	25/08/2025	14:16:19	Buy	IT.ico	MTA	TPRO	6.75	26	175.5
1ZAZHT5Q5	25/08/2025	14:16:24	Buy	IT.ico	MTA	TPRO	6.75	16	108
1ZAZHT5Q6	25/08/2025	14:16:28	Buy	IT.ico	MTA	TPRO	6.75	481	3246.75
1ZAZHT5Q7	25/08/2025	14:16:28	Buy	IT.ico	MTA	TPRO	6.75	519	3503.25
1ZAZHT5X3	25/08/2025	14:22:28	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT62V	25/08/2025	14:29:44	Buy	IT.ico	MTA	TPRO	6.74	155	1044.7
1ZAZHT659	25/08/2025	14:32:38	Buy	IT.ico	MTA	TPRO	6.75	459	3098.25
1ZAZHT65A	25/08/2025	14:32:38	Buy	IT.ico	MTA	TPRO	6.75	541	3651.75
1ZAZHT65B	25/08/2025	14:32:38	Buy	IT.ico	MTA	TPRO	6.75	369	2490.75
1ZAZHT667	25/08/2025	14:34:30	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT67P	25/08/2025	14:36:42	Buy	IT.ico	MTA	TPRO	6.74	150	1011
1ZAZHT69M	25/08/2025	14:41:17	Buy	IT.ico	MTA	TPRO	6.75	214	1444.5
1ZAZHT69N	25/08/2025	14:41:17	Buy	IT.ico	MTA	TPRO	6.75	786	5305.5
1ZAZHT6A7	25/08/2025	14:42:15	Buy	IT.ico	MTA	TPRO	6.75	630	4252.5
1ZAZHT6A8	25/08/2025	14:42:15	Buy	IT.ico	MTA	TPRO	6.75	370	2497.5
1ZAZHT6O6	25/08/2025	14:58:11	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT6O9	25/08/2025	14:58:11	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT6OC	25/08/2025	14:58:12	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHT6OE	25/08/2025	14:58:13	Buy	IT.ico	MTA	TPRO	6.75	112	756









1ZAZHT6PN	25/08/2025	15:00:13	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT6PO	25/08/2025	15:00:13	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT6PQ	25/08/2025	15:00:31	Buy	IT.ico	MTA	TPRO	6.75	512	3456
1ZAZHT6PR	25/08/2025	15:00:31	Buy	IT.ico	MTA	TPRO	6.75	488	3294
1ZAZHT6Q2	25/08/2025	15:00:46	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT6Q3	25/08/2025	15:00:46	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT6W3	25/08/2025	15:05:12	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT6ZT	25/08/2025	15:09:59	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT71Z	25/08/2025	15:13:03	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT75R	25/08/2025	15:16:04	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT77P	25/08/2025	15:19:03	Buy	IT.ico	MTA	TPRO	6.75	13	87.75
1ZAZHT77Q	25/08/2025	15:19:03	Buy	IT.ico	MTA	TPRO	6.75	987	6662.25
1ZAZHT7BR	25/08/2025	15:24:11	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT7CS	25/08/2025	15:24:53	Buy	IT.ico	MTA	TPRO	6.745	72	485.64
1ZAZHT7CT	25/08/2025	15:24:53	Buy	IT.ico	MTA	TPRO	6.745	400	2698
1ZAZHT7E6	25/08/2025	15:26:14	Buy	IT.ico	MTA	TPRO	6.745	42	283.29
1ZAZHT7EJ	25/08/2025	15:26:21	Buy	IT.ico	MTA	TPRO	6.745	32	215.84
1ZAZHT7EL	25/08/2025	15:26:26	Buy	IT.ico	MTA	TPRO	6.745	21	141.645
1ZAZHT7EM	25/08/2025	15:26:30	Buy	IT.ico	MTA	TPRO	6.745	722	4869.89
1ZAZHT7EN	25/08/2025	15:26:30	Buy	IT.ico	MTA	TPRO	6.745	278	1875.11
1ZAZHT7JM	25/08/2025	15:30:23	Buy	IT.ico	MTA	TPRO	6.745	934	6299.83
1ZAZHT7L0	25/08/2025	15:31:13	Buy	IT.ico	MTA	TPRO	6.745	156	1052.22
1ZAZHT7L1	25/08/2025	15:31:13	Buy	IT.ico	MTA	TPRO	6.745	40	269.8
1ZAZHT7L2	25/08/2025	15:31:13	Buy	IT.ico	MTA	TPRO	6.745	804	5422.98
1ZAZHT7SQ	25/08/2025	15:39:28	Buy	IT.ico	MTA	TPRO	6.75	810	5467.5
1ZAZHT7UB	25/08/2025	15:41:07	Buy	IT.ico	MTA	TPRO	6.75	841	5676.75
1ZAZHT7UC	25/08/2025	15:41:07	Buy	IT.ico	MTA	TPRO	6.75	159	1073.25
1ZAZHT7UH	25/08/2025	15:41:09	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT7VD	25/08/2025	15:42:03	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT7VG	25/08/2025	15:42:04	Buy	IT.ico	MTA	TPRO	6.745	258	1740.21
1ZAZHT7VH	25/08/2025	15:42:04	Buy	IT.ico	MTA	TPRO	6.745	1	6.745
1ZAZHT7VI	25/08/2025	15:42:04	Buy	IT.ico	MTA	TPRO	6.745	741	4998.045
1ZAZHT7XP	25/08/2025	15:44:34	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT7ZI	25/08/2025	15:46:20	Buy	IT.ico	MTA	TPRO	6.73	529	3560.17
1ZAZHT7ZJ	25/08/2025	15:46:20	Buy	IT.ico	MTA	TPRO	6.73	471	3169.83
1ZAZHT83F	25/08/2025	15:48:53	Buy	IT.ico	MTA	TPRO	6.74	1,000	6740
1ZAZHT89J	25/08/2025	15:54:48	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHT8D0	25/08/2025	15:59:32	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745









1ZAZHT9W2	25/08/2025	16:39:32	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT9XT	25/08/2025	16:40:38	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHT9XU	25/08/2025	16:40:39	Buy	IT.ico	MTA	TPRO	6.75	10	67.5
1ZAZHTA0T	25/08/2025	16:43:52	Buy	IT.ico	MTA	TPRO	6.75	768	5184
1ZAZHTA2R	25/08/2025	16:45:03	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTA2Y	25/08/2025	16:45:03	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTA2Z	25/08/2025	16:45:03	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTA30	25/08/2025	16:45:04	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTA31	25/08/2025	16:45:04	Buy	IT.ico	MTA	TPRO	6.75	400	2700
1ZAZHTA39	25/08/2025	16:45:09	Buy	IT.ico	MTA	TPRO	6.75	712	4806
1ZAZHTA3A	25/08/2025	16:45:09	Buy	IT.ico	MTA	TPRO	6.75	288	1944
1ZAZHTA3C	25/08/2025	16:45:12	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTA3D	25/08/2025	16:45:14	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTAIH	25/08/2025	16:55:01	Buy	IT.ico	MTA	TPRO	6.75	688	4644
1ZAZHTAIJ	25/08/2025	16:55:01	Buy	IT.ico	MTA	TPRO	6.75	489	3300.75
1ZAZHTB8N	25/08/2025	17:12:30	Buy	IT.ico	MTA	TPRO	6.77	147	995.19
1ZAZHTB8O	25/08/2025	17:12:30	Buy	IT.ico	MTA	TPRO	6.77	506	3425.62
1ZAZHTGAF	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.73	250	1682.5
1ZAZHTGAG	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.73	171	1150.83
1ZAZHTGAH	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.73	150	1009.5
1ZAZHTGAI	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.735	136	915.96
1ZAZHTGAJ	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.735	148	996.78
1ZAZHTGAK	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.735	843	5677.605
1ZAZHTGAL	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.74	250	1685
1ZAZHTGAM	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.74	109	734.66
1ZAZHTGAN	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.74	169	1139.06
1ZAZHTGAO	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.74	895	6032.3
1ZAZHTGAP	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.74	1,153	7771.22
1ZAZHTGAQ	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.74	977	6584.98
1ZAZHTGAR	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.745	910	6137.95
1ZAZHTGAS	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.745	173	1166.885
1ZAZHTGAT	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.745	827	5578.115
1ZAZHTGAU	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.75	155	1046.25
1ZAZHTGAV	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.75	851	5744.25
1ZAZHTGAW	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.75	172	1161
1ZAZHTGAX	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.75	162	1093.5
1ZAZHTGAY	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.75	2,500	16875
1ZAZHTGAZ	26/08/2025	09:26:48	Buy	IT.ico	MTA	TPRO	6.75	23,999	161993.3









1ZAZHTGC7	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.74	250	1685
1ZAZHTGC8	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.74	142	957.08
1ZAZHTGC9	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.74	219	1476.06
1ZAZHTGCA	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.745	147	991.515
1ZAZHTGCB	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.745	170	1146.65
1ZAZHTGCC	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.745	901	6077.245
1ZAZHTGCD	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	4,567	30827.25
1ZAZHTGCE	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	896	6048
1ZAZHTGCF	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	157	1059.75
1ZAZHTGCG	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	164	1107
1ZAZHTGCH	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	893	6027.75
1ZAZHTGCI	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	1,027	6932.25
1ZAZHTGCJ	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTGCK	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	1,600	10800
1ZAZHTGCL	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTGCM	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTGCN	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	1,600	10800
1ZAZHTGCO	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTGCP	26/08/2025	09:27:29	Buy	IT.ico	MTA	TPRO	6.75	1,267	8552.25
1ZAZHTGN0	26/08/2025	09:33:49	Buy	IT.ico	MTA	TPRO	6.72	1,000	6720
1ZAZHTGN3	26/08/2025	09:33:49	Buy	IT.ico	MTA	TPRO	6.72	1,000	6720
1ZAZHTGQN	26/08/2025	09:36:02	Buy	IT.ico	MTA	TPRO	6.725	1,000	6725
1ZAZHTGYF	26/08/2025	09:42:43	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTH4X	26/08/2025	09:48:28	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTH5U	26/08/2025	09:49:12	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTH5Y	26/08/2025	09:49:12	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTH5Z	26/08/2025	09:49:12	Buy	IT.ico	MTA	TPRO	6.75	578	3901.5
1ZAZHTHE7	26/08/2025	09:56:06	Buy	IT.ico	MTA	TPRO	6.745	152	1025.24
1ZAZHTHE8	26/08/2025	09:56:06	Buy	IT.ico	MTA	TPRO	6.745	161	1085.945
1ZAZHTHE9	26/08/2025	09:56:06	Buy	IT.ico	MTA	TPRO	6.745	274	1848.13
1ZAZHTHEA	26/08/2025	09:56:06	Buy	IT.ico	MTA	TPRO	6.745	68	458.66
1ZAZHTHEB	26/08/2025	09:56:06	Buy	IT.ico	MTA	TPRO	6.745	190	1281.55
1ZAZHTHEC	26/08/2025	09:56:06	Buy	IT.ico	MTA	TPRO	6.745	155	1045.475
1ZAZHTHS7	26/08/2025	10:02:03	Buy	IT.ico	MTA	TPRO	6.75	19	128.25
1ZAZHTHV9	26/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTHVC	26/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTHVD	26/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	6.75	174	1174.5
1ZAZHTHVE	26/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	6.75	168	1134









4747117187	00/00/0005	40.00.40	_	·	N.4T.A	TDDO	0.75	100	0754
1ZAZHTHVF	26/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	6.75	408	2754
1ZAZHTICG	26/08/2025	10:14:00	Buy	IT.ico	MTA	TPRO	6.75	456	3078
1ZAZHTIGQ	26/08/2025	10:16:56	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTIGS	26/08/2025	10:16:56	Buy	IT.ico	MTA	TPRO	6.75	163	1100.25
1ZAZHTIGT	26/08/2025	10:16:56	Buy	IT.ico	MTA	TPRO	6.75	17	114.75
1ZAZHTIGU	26/08/2025	10:16:57	Buy	IT.ico	MTA	TPRO	6.745	149	1005.005
1ZAZHTIL2	26/08/2025	10:20:45	Buy	IT.ico	MTA	TPRO	6.745	326	2198.87
1ZAZHTILW	26/08/2025	10:21:12	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHTILX	26/08/2025	10:21:15	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHTILY	26/08/2025	10:21:15	Buy	IT.ico	MTA	TPRO	6.745	250	1686.25
1ZAZHTILZ	26/08/2025	10:21:16	Buy	IT.ico	MTA	TPRO	6.745	142	957.79
1ZAZHTINH	26/08/2025	10:22:17	Buy	IT.ico	MTA	TPRO	6.74	14	94.36
1ZAZHTINI	26/08/2025	10:22:17	Buy	IT.ico	MTA	TPRO	6.74	500	3370
1ZAZHTINZ	26/08/2025	10:22:51	Buy	IT.ico	MTA	TPRO	6.73	244	1642.12
1ZAZHTISV	26/08/2025	10:26:29	Buy	IT.ico	MTA	TPRO	6.735	1,000	6735
1ZAZHTIWV	26/08/2025	10:28:53	Buy	IT.ico	MTA	TPRO	6.725	110	739.75
1ZAZHTIY8	26/08/2025	10:29:36	Buy	IT.ico	MTA	TPRO	6.72	153	1028.16
1ZAZHTJ06	26/08/2025	10:31:14	Buy	IT.ico	MTA	TPRO	6.72	326	2190.72
1ZAZHTJCZ	26/08/2025	10:37:57	Buy	IT.ico	MTA	TPRO	6.72	327	2197.44
1ZAZHTJH2	26/08/2025	10:41:25	Buy	IT.ico	MTA	TPRO	6.72	326	2190.72
1ZAZHTJH4	26/08/2025	10:41:25	Buy	IT.ico	MTA	TPRO	6.72	1,000	6720
1ZAZHTJK6	26/08/2025	10:43:32	Buy	IT.ico	MTA	TPRO	6.72	1,000	6720
1ZAZHTJRD	26/08/2025	10:49:18	Buy	IT.ico	MTA	TPRO	6.725	326	2192.35
1ZAZHTJRE	26/08/2025	10:49:18	Buy	IT.ico	MTA	TPRO	6.725	674	4532.65
1ZAZHTJV4	26/08/2025	10:52:00	Buy	IT.ico	MTA	TPRO	6.72	1,000	6720
1ZAZHTJWG	26/08/2025	10:52:31	Buy	IT.ico	MTA	TPRO	6.715	1,000	6715
1ZAZHTK6L	26/08/2025	11:00:54	Buy	IT.ico	MTA	TPRO	6.705	97	650.385
1ZAZHTKBC	26/08/2025	11:03:21	Buy	IT.ico	MTA	TPRO	6.705	255	1709.775
1ZAZHTKOQ	26/08/2025	11:13:58	Buy	IT.ico	MTA	TPRO	6.735	1,000	6735
1ZAZHTKP5	26/08/2025	11:15:11	Buy	IT.ico	MTA	TPRO	6.735	1,000	6735
1ZAZHTKP6	26/08/2025	11:15:11	Buy	IT.ico	MTA	TPRO	6.735	154	1037.19
1ZAZHTKRH	26/08/2025	11:16:21	Buy	IT.ico	MTA	TPRO	6.735	155	1043.925
1ZAZHTKSA	26/08/2025	11:17:13	Buy	IT.ico	MTA	TPRO	6.735	1,000	6735
1ZAZHTL06	26/08/2025	11:21:19	Buy	IT.ico	MTA	TPRO	6.73	1,000	6730
1ZAZHTL78	26/08/2025	11:26:07	Buy	IT.ico	MTA	TPRO	6.72	366	2459.52
1ZAZHTL94	26/08/2025	11:28:29	Buy	IT.ico	MTA	TPRO	6.72	1,000	6720
1ZAZHTLK2	26/08/2025	11:37:55	Buy	IT.ico	MTA	TPRO	6.735	105	707.175
1ZAZHTLK3	26/08/2025	11:37:59	Buy	IT.ico	MTA	TPRO	6.73	95	639.35









1ZAZHTLKE	26/08/2025	11:38:11	Buy	IT.ico	MTA	TPRO	6.73	75	504.75
1ZAZHTLKK	26/08/2025	11:38:38	Buy	IT.ico	MTA	TPRO	6.735	136	915.96
1ZAZHTLMG	26/08/2025	11:40:57	Buy	IT.ico	MTA	TPRO	6.725	1,000	6725
1ZAZHTLR1	26/08/2025	11:45:51	Buy	IT.ico	MTA	TPRO	6.725	76	511.1
1ZAZHTLTU	26/08/2025	11:48:05	Buy	IT.ico	MTA	TPRO	6.73	700	4711
1ZAZHTLY1	26/08/2025	11:54:20	Buy	IT.ico	MTA	TPRO	6.75	11	74.25
1ZAZHTLZ4	26/08/2025	11:55:58	Buy	IT.ico	MTA	TPRO	6.75	4	27
1ZAZHTM8T	26/08/2025	12:04:48	Buy	IT.ico	MTA	TPRO	6.75	41	276.75
1ZAZHTN5O	26/08/2025	12:43:26	Buy	IT.ico	MTA	TPRO	6.75	950	6412.5
1ZAZHTNFX	26/08/2025	12:53:56	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTNFZ	26/08/2025	12:53:57	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTNI8	26/08/2025	12:55:58	Buy	IT.ico	MTA	TPRO	6.75	26	175.5
1ZAZHTNJ9	26/08/2025	12:58:25	Buy	IT.ico	MTA	TPRO	6.75	326	2200.5
1ZAZHTNM7	26/08/2025	13:01:58	Buy	IT.ico	MTA	TPRO	6.75	67	452.25
1ZAZHTNPJ	26/08/2025	13:05:23	Buy	IT.ico	MTA	TPRO	6.75	325	2193.75
1ZAZHTNRR	26/08/2025	13:06:39	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOAL	26/08/2025	13:37:12	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOAN	26/08/2025	13:37:12	Buy	IT.ico	MTA	TPRO	6.75	104	702
1ZAZHTOAO	26/08/2025	13:37:12	Buy	IT.ico	MTA	TPRO	6.75	445	3003.75
1ZAZHTOEN	26/08/2025	13:41:21	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOEY	26/08/2025	13:41:53	Buy	IT.ico	MTA	TPRO	6.75	178	1201.5
1ZAZHTOF0	26/08/2025	13:42:26	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOF1	26/08/2025	13:42:26	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTOF2	26/08/2025	13:42:26	Buy	IT.ico	MTA	TPRO	6.75	141	951.75
1ZAZHTOFA	26/08/2025	13:42:32	Buy	IT.ico	MTA	TPRO	6.75	21	141.75
1ZAZHTOFI	26/08/2025	13:42:35	Buy	IT.ico	MTA	TPRO	6.75	104	702
1ZAZHTOGQ	26/08/2025	13:43:56	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOGR	26/08/2025	13:43:56	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTOGS	26/08/2025	13:43:56	Buy	IT.ico	MTA	TPRO	6.75	150	1012.5
1ZAZHTOGX	26/08/2025	13:44:12	Buy	IT.ico	MTA	TPRO	6.75	17	114.75
1ZAZHTOHS	26/08/2025	13:45:18	Buy	IT.ico	MTA	TPRO	6.75	28	189
1ZAZHTOI8	26/08/2025	13:46:23	Buy	IT.ico	MTA	TPRO	6.75	7	47.25
1ZAZHTOJ6	26/08/2025	13:47:34	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOJ7	26/08/2025	13:47:34	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTOJ8	26/08/2025	13:47:34	Buy	IT.ico	MTA	TPRO	6.75	750	5062.5
1ZAZHTOJ9	26/08/2025	13:47:34	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTOJA	26/08/2025	13:47:34	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHTOJB	26/08/2025	13:47:34	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5









1ZAZHTOJD	26/08/2025	13:47:38	Buy	IT.ico	MTA	TPRO	6.75	22	148.5
1ZAZHTOK7	26/08/2025	13:48:27	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTOKC	26/08/2025	13:48:29	Buy	IT.ico	MTA	TPRO	6.745	1,000	6745
1ZAZHTOKD	26/08/2025	13:48:29	Buy	IT.ico	MTA	TPRO	6.745	769	5186.905
1ZAZHTOKE	26/08/2025	13:48:29	Buy	IT.ico	MTA	TPRO	6.745	231	1558.095
1ZAZHTOYT	26/08/2025	14:04:43	Buy	IT.ico	MTA	TPRO	6.74	98	660.52
1ZAZHTOYU	26/08/2025	14:04:43	Buy	IT.ico	MTA	TPRO	6.74	902	6079.48
1ZAZHTP2N	26/08/2025	14:06:36	Buy	IT.ico	MTA	TPRO	6.73	1,000	6730
1ZAZHTPLY	26/08/2025	14:32:31	Buy	IT.ico	MTA	TPRO	6.75	667	4502.25
1ZAZHTPPR	26/08/2025	14:37:17	Buy	IT.ico	MTA	TPRO	6.75	43	290.25
1ZAZHTPRL	26/08/2025	14:39:12	Buy	IT.ico	MTA	TPRO	6.75	76	513
1ZAZHTPUF	26/08/2025	14:43:16	Buy	IT.ico	MTA	TPRO	6.75	1,000	6750
1ZAZHTPUG	26/08/2025	14:43:16	Buy	IT.ico	MTA	TPRO	6.75	190	1282.5
1ZAZHTPUH	26/08/2025	14:43:16	Buy	IT.ico	MTA	TPRO	6.75	169	1140.75
1ZAZHTPUI	26/08/2025	14:43:16	Buy	IT.ico	MTA	TPRO	6.75	641	4326.75
1ZAZHTQ0Z	26/08/2025	14:49:46	Buy	IT.ico	MTA	TPRO	6.75	146	985.5
1ZAZHTQ19	26/08/2025	14:50:00	Buy	IT.ico	MTA	TPRO	6.75	377	2544.75
1ZAZHTQ1A	26/08/2025	14:50:00	Buy	IT.ico	MTA	TPRO	6.75	623	4205.25
1ZAZHTQDS	26/08/2025	14:58:38	Buy	IT.ico	MTA	TPRO	6.75	134	904.5
1ZAZHTQDU	26/08/2025	14:58:46	Buy	IT.ico	MTA	TPRO	6.75	320	2160
1ZAZHTQNZ	26/08/2025	15:09:59	Buy	IT.ico	MTA	TPRO	6.75	109	735.75
1ZAZHTW1L	26/08/2025	17:29:03	Buy	IT.ico	MTA	TPRO	6.75	280	1890
1ZAZHTW2I	26/08/2025	17:29:28	Buy	IT.ico	MTA	TPRO	6.75	108	729
1ZAZHTW2J	26/08/2025	17:29:28	Buy	IT.ico	MTA	TPRO	6.75	343	2315.25
1ZAZHU3S9	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.84	234	1600.56
1ZAZHU3SA	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.84	209	1429.56
1ZAZHU3SB	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.845	806	5517.07
1ZAZHU3SC	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.85	1,000	6850
1ZAZHU3SD	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.85	500	3425
1ZAZHU3SE	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.85	882	6041.7
1ZAZHU3SF	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.85	803	5500.55
1ZAZHU3SG	27/08/2025	12:14:25	Buy	IT.ico	MTA	TPRO	6.85	2,566	17577.1
1ZAZHU3SK	27/08/2025	12:14:29	Buy	IT.ico	MTA	TPRO	6.84	121	827.64
1ZAZHU3SL	27/08/2025	12:14:29	Buy	IT.ico	MTA	TPRO	6.84	22	150.48
1ZAZHU3SM	27/08/2025	12:14:29	Buy	IT.ico	MTA	TPRO	6.845	538	3682.61
1ZAZHU3SN	27/08/2025	12:14:29	Buy	IT.ico	MTA	TPRO	6.845	849	5811.405
1ZAZHU3SO	27/08/2025	12:14:29	Buy	IT.ico	MTA	TPRO	6.85	5,470	37469.5
1ZAZHU3SR	27/08/2025	12:14:34	Buy	IT.ico	MTA	TPRO	6.835	250	1708.75









1ZAZHU3SS	27/08/2025	12:14:34	Buy	IT.ico	MTA	TPRO	6.835	295	2016.325
1ZAZHU3ST	27/08/2025	12:14:34	Buy	IT.ico	MTA	TPRO	6.84	272	1860.48
1ZAZHU3SU	27/08/2025	12:14:34	Buy	IT.ico	MTA	TPRO	6.84	950	6498
1ZAZHU3SV	27/08/2025	12:14:34	Buy	IT.ico	MTA	TPRO	6.845	852	5831.94
1ZAZHU3SW	27/08/2025	12:14:34	Buy	IT.ico	MTA	TPRO	6.85	4,381	30009.85
1ZAZHU3XX	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.83	295	2014.85
1ZAZHU3XY	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.83	265	1809.95
1ZAZHU3XZ	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.835	307	2098.345
1ZAZHU3Y0	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.835	839	5734.565
1ZAZHU3Y1	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.84	888	6073.92
1ZAZHU3Y2	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.84	1,165	7968.6
1ZAZHU3Y3	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.845	939	6427.455
1ZAZHU3Y4	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.845	524	3586.78
1ZAZHU3Y5	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.845	824	5640.28
1ZAZHU3Y6	27/08/2025	12:18:54	Buy	IT.ico	MTA	TPRO	6.85	954	6534.9
1ZAZHU3Y7	27/08/2025	12:18:59	Buy	IT.ico	MTA	TPRO	6.835	250	1708.75
1ZAZHU3Y8	27/08/2025	12:18:59	Buy	IT.ico	MTA	TPRO	6.835	292	1995.82
1ZAZHU3Y9	27/08/2025	12:18:59	Buy	IT.ico	MTA	TPRO	6.835	210	1435.35
1ZAZHU3YA	27/08/2025	12:18:59	Buy	IT.ico	MTA	TPRO	6.84	812	5554.08
1ZAZHU3YB	27/08/2025	12:18:59	Buy	IT.ico	MTA	TPRO	6.845	2,191	14997.4
1ZAZHU3YC	27/08/2025	12:18:59	Buy	IT.ico	MTA	TPRO	6.85	3,245	22228.25
1ZAZHU3YH	27/08/2025	12:19:05	Buy	IT.ico	MTA	TPRO	6.85	7,000	47950
1ZAZHU3YI	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.83	250	1707.5
1ZAZHU3YJ	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.83	290	1980.7
1ZAZHU3YK	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.835	92	628.82
1ZAZHU3YL	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.845	524	3586.78
1ZAZHU3YM	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.845	1,996	13662.62
1ZAZHU3YN	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.845	837	5729.265
1ZAZHU3YO	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.85	3,384	23180.4
1ZAZHU3YP	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.85	15,000	102750
1ZAZHU3YQ	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.85	1,579	10816.15
1ZAZHU3YR	27/08/2025	12:19:19	Buy	IT.ico	MTA	TPRO	6.85	1,048	7178.8
1ZAZHU49Z	27/08/2025	12:33:49	Buy	IT.ico	MTA	TPRO	6.84	30	205.2
1ZAZHU4AV	27/08/2025	12:35:07	Buy	IT.ico	MTA	TPRO	6.84	1,000	6840
1ZAZHU4JO	27/08/2025	12:49:17	Buy	IT.ico	MTA	TPRO	6.85	1,000	6850
1ZAZHU4K7	27/08/2025	12:50:57	Buy	IT.ico	MTA	TPRO	6.85	36	246.6
1ZAZHU4L8	27/08/2025	12:55:32	Buy	IT.ico	MTA	TPRO	6.85	37	253.45
1ZAZHU4L9	27/08/2025	12:55:32	Buy	IT.ico	MTA	TPRO	6.85	16	109.6









1ZAZHU4O1	27/08/2025	12:58:26	Buy	IT.ico	MTA	TPRO	6.85	247	1691.95
1ZAZHU4TO	27/08/2025	13:05:19	Buy	IT.ico	MTA	TPRO	6.85	1,000	6850
1ZAZHU4VQ	27/08/2025	13:08:30	Buy	IT.ico	MTA	TPRO	6.85	842	5767.7
1ZAZHU4VR	27/08/2025	13:08:30	Buy	IT.ico	MTA	TPRO	6.85	158	1082.3
1ZAZHU4VW	27/08/2025	13:08:35	Buy	IT.ico	MTA	TPRO	6.85	1,000	6850
1ZAZHU4W0	27/08/2025	13:08:37	Buy	IT.ico	MTA	TPRO	6.85	895	6130.75
1ZAZHU4W1	27/08/2025	13:08:37	Buy	IT.ico	MTA	TPRO	6.85	105	719.25
1ZAZHU4WY	27/08/2025	13:11:01	Buy	IT.ico	MTA	TPRO	6.85	1,000	6850
1ZAZHU4XA	27/08/2025	13:12:55	Buy	IT.ico	MTA	TPRO	6.84	77	526.68
1ZAZHU51P	27/08/2025	13:19:11	Buy	IT.ico	MTA	TPRO	6.84	128	875.52
1ZAZHU51Q	27/08/2025	13:19:11	Buy	IT.ico	MTA	TPRO	6.84	64	437.76
1ZAZHU51R	27/08/2025	13:19:11	Buy	IT.ico	MTA	TPRO	6.84	4	27.36
1ZAZHU51S	27/08/2025	13:19:11	Buy	IT.ico	MTA	TPRO	6.84	69	471.96
1ZAZHU53U	27/08/2025	13:21:04	Buy	IT.ico	MTA	TPRO	6.84	111	759.24
1ZAZHU54C	27/08/2025	13:21:52	Buy	IT.ico	MTA	TPRO	6.84	27	184.68
1ZAZHU557	27/08/2025	13:22:03	Buy	IT.ico	MTA	TPRO	6.84	104	711.36
1ZAZHU56F	27/08/2025	13:22:47	Buy	IT.ico	MTA	TPRO	6.84	17	116.28
1ZAZHU56G	27/08/2025	13:22:56	Buy	IT.ico	MTA	TPRO	6.84	44	300.96
1ZAZHU57E	27/08/2025	13:23:13	Buy	IT.ico	MTA	TPRO	6.83	1,000	6830
1ZAZHU5C3	27/08/2025	13:29:18	Buy	IT.ico	MTA	TPRO	6.82	1,000	6820
1ZAZHU5L3	27/08/2025	13:36:48	Buy	IT.ico	MTA	TPRO	6.815	1,000	6815
1ZAZHU5OH	27/08/2025	13:42:48	Buy	IT.ico	MTA	TPRO	6.81	1,000	6810
1ZAZHU5QI	27/08/2025	13:45:53	Buy	IT.ico	MTA	TPRO	6.8	1,000	6800
1ZAZHU5VF	27/08/2025	13:53:40	Buy	IT.ico	MTA	TPRO	6.79	277	1880.83
1ZAZHU64E	27/08/2025	14:04:01	Buy	IT.ico	MTA	TPRO	6.805	167	1136.435
1ZAZHU64F	27/08/2025	14:04:01	Buy	IT.ico	MTA	TPRO	6.805	4	27.22
1ZAZHU64G	27/08/2025	14:04:01	Buy	IT.ico	MTA	TPRO	6.805	159	1081.995
1ZAZHU64H	27/08/2025	14:04:01	Buy	IT.ico	MTA	TPRO	6.805	38	258.59
1ZAZHU64L	27/08/2025	14:04:06	Buy	IT.ico	MTA	TPRO	6.805	157	1068.385
1ZAZHU64M	27/08/2025	14:04:13	Buy	IT.ico	MTA	TPRO	6.805	62	421.91
1ZAZHU64N	27/08/2025	14:04:13	Buy	IT.ico	MTA	TPRO	6.805	150	1020.75
1ZAZHU64O	27/08/2025	14:04:14	Buy	IT.ico	MTA	TPRO	6.805	447	3041.835
1ZAZHU66C	27/08/2025	14:06:50	Buy	IT.ico	MTA	TPRO	6.805	139	945.895
1ZAZHU69L	27/08/2025	14:10:43	Buy	IT.ico	MTA	TPRO	6.8	1,000	6800
1ZAZHU69M	27/08/2025	14:10:43	Buy	IT.ico	MTA	TPRO	6.8	250	1700
1ZAZHU6EK	27/08/2025	14:17:38	Buy	IT.ico	MTA	TPRO	6.825	41	279.825
1ZAZHU6EL	27/08/2025	14:17:38	Buy	IT.ico	MTA	TPRO	6.825	959	6545.175
1ZAZHU6EM	27/08/2025	14:17:39	Buy	IT.ico	MTA	TPRO	6.825	250	1706.25









1ZAZHU6ET	27/08/2025	14:18:26	Buy	IT.ico	MTA	TPRO	6.825	250	1706.25
1ZAZHU6EU	27/08/2025	14:18:26	Buy	IT.ico	MTA	TPRO	6.825	118	805.35
1ZAZHU6GN	27/08/2025	14:20:58	Buy	IT.ico	MTA	TPRO	6.825	45	307.125
1ZAZHU6HN	27/08/2025	14:22:38	Buy	IT.ico	MTA	TPRO	6.825	39	266.175
1ZAZHU6IN	27/08/2025	14:23:18	Buy	IT.ico	MTA	TPRO	6.825	1,000	6825
1ZAZHU6J1	27/08/2025	14:23:18	Buy	IT.ico	MTA	TPRO	6.825	250	1706.25
1ZAZHU6J2	27/08/2025	14:23:18	Buy	IT.ico	MTA	TPRO	6.825	750	5118.75
1ZAZHU6QT	27/08/2025	14:35:48	Buy	IT.ico	MTA	TPRO	6.81	13	88.53
1ZAZHU6R3	27/08/2025	14:35:59	Buy	IT.ico	MTA	TPRO	6.81	22	149.82
1ZAZHU6R4	27/08/2025	14:36:01	Buy	IT.ico	MTA	TPRO	6.81	308	2097.48
1ZAZHU6R5	27/08/2025	14:36:01	Buy	IT.ico	MTA	TPRO	6.81	18	122.58
1ZAZHU6RN	27/08/2025	14:37:32	Buy	IT.ico	MTA	TPRO	6.81	13	88.53
1ZAZHU6RO	27/08/2025	14:37:35	Buy	IT.ico	MTA	TPRO	6.81	13	88.53
1ZAZHU6S2	27/08/2025	14:38:37	Buy	IT.ico	MTA	TPRO	6.81	13	88.53
1ZAZHU6SA	27/08/2025	14:39:07	Buy	IT.ico	MTA	TPRO	6.815	111	756.465
1ZAZHU6SB	27/08/2025	14:39:07	Buy	IT.ico	MTA	TPRO	6.815	32	218.08
1ZAZHU6SC	27/08/2025	14:39:07	Buy	IT.ico	MTA	TPRO	6.815	108	736.02
1ZAZHU6ST	27/08/2025	14:40:52	Buy	IT.ico	MTA	TPRO	6.815	13	88.595
1ZAZHU6UR	27/08/2025	14:41:27	Buy	IT.ico	MTA	TPRO	6.815	1,000	6815
1ZAZHU6US	27/08/2025	14:41:27	Buy	IT.ico	MTA	TPRO	6.815	250	1703.75
1ZAZHU6UT	27/08/2025	14:41:27	Buy	IT.ico	MTA	TPRO	6.815	168	1144.92
1ZAZHU6VN	27/08/2025	14:42:05	Buy	IT.ico	MTA	TPRO	6.81	23	156.63
1ZAZHU6VO	27/08/2025	14:42:05	Buy	IT.ico	MTA	TPRO	6.81	4	27.24
1ZAZHU6X3	27/08/2025	14:43:57	Buy	IT.ico	MTA	TPRO	6.81	245	1668.45
1ZAZHU6X4	27/08/2025	14:43:57	Buy	IT.ico	MTA	TPRO	6.81	489	3330.09
1ZAZHU6X5	27/08/2025	14:43:57	Buy	IT.ico	MTA	TPRO	6.81	266	1811.46
1ZAZHU6ZK	27/08/2025	14:45:50	Buy	IT.ico	MTA	TPRO	6.8	36	244.8
1ZAZHU71H	27/08/2025	14:47:40	Buy	IT.ico	MTA	TPRO	6.8	30	204
1ZAZHU72D	27/08/2025	14:49:17	Buy	IT.ico	MTA	TPRO	6.8	13	88.4
1ZAZHU73M	27/08/2025	14:50:30	Buy	IT.ico	MTA	TPRO	6.8	13	88.4
1ZAZHU745	27/08/2025	14:51:15	Buy	IT.ico	MTA	TPRO	6.8	355	2414
1ZAZHU746	27/08/2025	14:51:15	Buy	IT.ico	MTA	TPRO	6.8	645	4386
1ZAZHU747	27/08/2025	14:51:15	Buy	IT.ico	MTA	TPRO	6.8	250	1700
1ZAZHU748	27/08/2025	14:51:15	Buy	IT.ico	MTA	TPRO	6.8	151	1026.8
1ZAZHU753	27/08/2025	14:52:37	Buy	IT.ico	MTA	TPRO	6.795	22	149.49
1ZAZHU788	27/08/2025	14:54:17	Buy	IT.ico	MTA	TPRO	6.795	26	176.67
1ZAZHU795	27/08/2025	14:55:19	Buy	IT.ico	MTA	TPRO	6.795	27	183.465
1ZAZHU79O	27/08/2025	14:56:20	Buy	IT.ico	MTA	TPRO	6.8	62	421.6









1ZAZHU79P	27/08/2025	14:56:20	Buy	IT.ico	MTA	TPRO	6.8	6	40.8
1ZAZHU7DG	27/08/2025	15:02:36	Buy	IT.ico	MTA	TPRO	6.805	647	4402.835
1ZAZHU7JP	27/08/2025	15:08:04	Buy	IT.ico	MTA	TPRO	6.805	13	88.465
1ZAZHU7JQ	27/08/2025	15:08:04	Buy	IT.ico	MTA	TPRO	6.805	579	3940.095
1ZAZHU7JR	27/08/2025	15:08:04	Buy	IT.ico	MTA	TPRO	6.805	77	523.985
1ZAZHU7LO	27/08/2025	15:09:36	Buy	IT.ico	MTA	TPRO	6.805	13	88.465
1ZAZHU7M1	27/08/2025	15:09:42	Buy	IT.ico	MTA	TPRO	6.805	58	394.69
1ZAZHU7M2	27/08/2025	15:09:55	Buy	IT.ico	MTA	TPRO	6.805	265	1803.325
1ZAZHU7MM	27/08/2025	15:11:18	Buy	IT.ico	MTA	TPRO	6.805	13	88.465
1ZAZHU7MN	27/08/2025	15:11:18	Buy	IT.ico	MTA	TPRO	6.805	987	6716.535
1ZAZHU7NF	27/08/2025	15:11:28	Buy	IT.ico	MTA	TPRO	6.805	393	2674.365
1ZAZHU7NG	27/08/2025	15:11:28	Buy	IT.ico	MTA	TPRO	6.805	607	4130.635
1ZAZHU7PP	27/08/2025	15:12:23	Buy	IT.ico	MTA	TPRO	6.805	13	88.465
1ZAZHU7QA	27/08/2025	15:13:00	Buy	IT.ico	MTA	TPRO	6.805	1,000	6805
1ZAZHU7RQ	27/08/2025	15:14:37	Buy	IT.ico	MTA	TPRO	6.8	1,000	6800
1ZAZHU7VK	27/08/2025	15:20:58	Buy	IT.ico	MTA	TPRO	6.81	30	204.3
1ZAZHU7W1	27/08/2025	15:21:36	Buy	IT.ico	MTA	TPRO	6.82	30	204.6
1ZAZHU7Y3	27/08/2025	15:22:53	Buy	IT.ico	MTA	TPRO	6.82	516	3519.12
1ZAZHU8C0	27/08/2025	15:30:01	Buy	IT.ico	MTA	TPRO	6.82	13	88.66
1ZAZHU8C1	27/08/2025	15:30:01	Buy	IT.ico	MTA	TPRO	6.82	987	6731.34
1ZAZHU8CL	27/08/2025	15:30:03	Buy	IT.ico	MTA	TPRO	6.815	640	4361.6
1ZAZHU8DR	27/08/2025	15:30:38	Buy	IT.ico	MTA	TPRO	6.815	1,000	6815
1ZAZHU8DS	27/08/2025	15:30:40	Buy	IT.ico	MTA	TPRO	6.815	100	681.5
1ZAZHU8DT	27/08/2025	15:30:40	Buy	IT.ico	MTA	TPRO	6.815	900	6133.5
1ZAZHU8E2	27/08/2025	15:30:51	Buy	IT.ico	MTA	TPRO	6.81	67	456.27
1ZAZHU8E3	27/08/2025	15:30:51	Buy	IT.ico	MTA	TPRO	6.81	933	6353.73
1ZAZHU8J1	27/08/2025	15:35:34	Buy	IT.ico	MTA	TPRO	6.81	127	864.87
1ZAZHU8J2	27/08/2025	15:35:34	Buy	IT.ico	MTA	TPRO	6.81	4	27.24
1ZAZHU8J3	27/08/2025	15:35:34	Buy	IT.ico	MTA	TPRO	6.81	252	1716.12
1ZAZHU8KD	27/08/2025	15:37:28	Buy	IT.ico	MTA	TPRO	6.815	240	1635.6
1ZAZHU8KM	27/08/2025	15:38:01	Buy	IT.ico	MTA	TPRO	6.815	36	245.34
1ZAZHU8KN	27/08/2025	15:38:01	Buy	IT.ico	MTA	TPRO	6.815	524	3571.06
1ZAZHU8KO	27/08/2025	15:38:01	Buy	IT.ico	MTA	TPRO	6.815	13	88.595
1ZAZHU8KY	27/08/2025	15:38:34	Buy	IT.ico	MTA	TPRO	6.81	640	4358.4
1ZAZHU8KZ	27/08/2025	15:38:34	Buy	IT.ico	MTA	TPRO	6.81	360	2451.6
1ZAZHU8R1	27/08/2025	15:42:55	Buy	IT.ico	MTA	TPRO	6.805	1,000	6805
1ZAZHU8SL	27/08/2025	15:43:37	Buy	IT.ico	MTA	TPRO	6.805	582	3960.51
1ZAZHU8SM	27/08/2025	15:43:37	Buy	IT.ico	MTA	TPRO	6.805	418	2844.49









1ZAZHU93Q	27/08/2025	15:51:52	Buy	IT.ico	MTA	TPRO	6.81	1,000	6810
1ZAZHU964	27/08/2025	15:53:35	Buy	IT.ico	MTA	TPRO	6.81	311	2117.91
1ZAZHU965	27/08/2025	15:53:35	Buy	IT.ico	MTA	TPRO	6.81	689	4692.09
1ZAZHU99Q	27/08/2025	15:56:11	Buy	IT.ico	MTA	TPRO	6.815	1,000	6815
1ZAZHU99R	27/08/2025	15:56:11	Buy	IT.ico	MTA	TPRO	6.815	1,000	6815
1ZAZHU9G9	27/08/2025	16:02:21	Buy	IT.ico	MTA	TPRO	6.81	13	88.53
1ZAZHU9GA	27/08/2025	16:02:21	Buy	IT.ico	MTA	TPRO	6.81	987	6721.47
1ZAZHU9IR	27/08/2025	16:05:22	Buy	IT.ico	MTA	TPRO	6.805	142	966.31
1ZAZHU9IS	27/08/2025	16:05:22	Buy	IT.ico	MTA	TPRO	6.805	133	905.065
1ZAZHU9K0	27/08/2025	16:05:52	Buy	IT.ico	MTA	TPRO	6.795	339	2303.505
1ZAZHU9MB	27/08/2025	16:07:29	Buy	IT.ico	MTA	TPRO	6.795	26	176.67
1ZAZHU9MC	27/08/2025	16:07:29	Buy	IT.ico	MTA	TPRO	6.795	14	95.13
1ZAZHU9MD	27/08/2025	16:07:29	Buy	IT.ico	MTA	TPRO	6.795	960	6523.2
1ZAZHU9MN	27/08/2025	16:07:31	Buy	IT.ico	MTA	TPRO	6.79	533	3619.07
1ZAZHU9QV	27/08/2025	16:10:15	Buy	IT.ico	MTA	TPRO	6.785	1,000	6785
1ZAZHU9X1	27/08/2025	16:15:19	Buy	IT.ico	MTA	TPRO	6.785	499	3385.715
1ZAZHU9X2	27/08/2025	16:15:19	Buy	IT.ico	MTA	TPRO	6.785	501	3399.285
1ZAZHUA0C	27/08/2025	16:17:46	Buy	IT.ico	MTA	TPRO	6.79	579	3931.41
1ZAZHUA4S	27/08/2025	16:19:18	Buy	IT.ico	MTA	TPRO	6.79	52	353.08
1ZAZHUAH3	27/08/2025	16:25:58	Buy	IT.ico	MTA	TPRO	6.79	1,000	6790
1ZAZHUAH5	27/08/2025	16:25:58	Buy	IT.ico	MTA	TPRO	6.79	566	3843.14
1ZAZHUAH6	27/08/2025	16:25:58	Buy	IT.ico	MTA	TPRO	6.79	217	1473.43
1ZAZHUAH7	27/08/2025	16:25:58	Buy	IT.ico	MTA	TPRO	6.79	217	1473.43
1ZAZHUAKI	27/08/2025	16:27:01	Buy	IT.ico	MTA	TPRO	6.79	1,000	6790
1ZAZHUALA	27/08/2025	16:28:15	Buy	IT.ico	MTA	TPRO	6.79	22	149.38
1ZAZHUALB	27/08/2025	16:28:15	Buy	IT.ico	MTA	TPRO	6.79	670	4549.3
1ZAZHUALC	27/08/2025	16:28:15	Buy	IT.ico	MTA	TPRO	6.79	16	108.64
1ZAZHUALD	27/08/2025	16:28:15	Buy	IT.ico	MTA	TPRO	6.79	13	88.27
1ZAZHUAMR	27/08/2025	16:29:15	Buy	IT.ico	MTA	TPRO	6.79	251	1704.29
1ZAZHUAMX	27/08/2025	16:29:55	Buy	IT.ico	MTA	TPRO	6.79	520	3530.8
1ZAZHUAMY	27/08/2025	16:29:55	Buy	IT.ico	MTA	TPRO	6.79	480	3259.2
1ZAZHUAN4	27/08/2025	16:30:03	Buy	IT.ico	MTA	TPRO	6.785	392	2659.72
1ZAZHUAQA	27/08/2025	16:32:31	Buy	IT.ico	MTA	TPRO	6.775	323	2188.325
1ZAZHUAQB	27/08/2025	16:32:31	Buy	IT.ico	MTA	TPRO	6.775	677	4586.675
1ZAZHUAX1	27/08/2025	16:36:57	Buy	IT.ico	MTA	TPRO	6.775	73	494.575
1ZAZHUAXH	27/08/2025	16:37:00	Buy	IT.ico	MTA	TPRO	6.775	14	94.85
1ZAZHUAXO	27/08/2025	16:37:11	Buy	IT.ico	MTA	TPRO	6.775	13	88.075
1ZAZHUAZN	27/08/2025	16:37:33	Buy	IT.ico	MTA	TPRO	6.775	1,000	6775









4747111470	07/00/0005	40.07.00	D	IT :	NAT A	TDDO	0.775	050	4000 75
1ZAZHUAZO	27/08/2025	16:37:33	Buy	IT.ico	MTA	TPRO	6.775	250	1693.75
1ZAZHUB8K	27/08/2025	16:45:38	Buy	IT.ico	MTA	TPRO	6.77	133	900.41
1ZAZHUB8L	27/08/2025	16:45:38	Buy	IT.ico	MTA	TPRO	6.77	867	5869.59
1ZAZHUB9U	27/08/2025	16:47:08	Buy	IT.ico	MTA	TPRO	6.775	143	968.825
1ZAZHUB9V	27/08/2025	16:47:08	Buy	IT.ico	MTA	TPRO	6.775	31	210.025
1ZAZHUB9W	27/08/2025	16:47:08	Buy	IT.ico	MTA	TPRO	6.77	34	230.18
1ZAZHUB9X	27/08/2025	16:47:08	Buy	IT.ico	MTA	TPRO	6.77	24	162.48
1ZAZHUB9Y	27/08/2025	16:47:25	Buy	IT.ico	MTA	TPRO	6.77	675	4569.75
1ZAZHUB9Z	27/08/2025	16:47:25	Buy	IT.ico	MTA	TPRO	6.77	325	2200.25
1ZAZHUBA0	27/08/2025	16:47:27	Buy	IT.ico	MTA	TPRO	6.77	64	433.28
1ZAZHUBA1	27/08/2025	16:47:27	Buy	IT.ico	MTA	TPRO	6.77	936	6336.72
1ZAZHUBA3	27/08/2025	16:47:32	Buy	IT.ico	MTA	TPRO	6.765	372	2516.58
1ZAZHUBB8	27/08/2025	16:49:34	Buy	IT.ico	MTA	TPRO	6.765	24	162.36
1ZAZHUBBB	27/08/2025	16:50:34	Buy	IT.ico	MTA	TPRO	6.765	44	297.66
1ZAZHUBHA	27/08/2025	16:56:10	Buy	IT.ico	MTA	TPRO	6.765	334	2259.51
1ZAZHUBJ0	27/08/2025	16:57:39	Buy	IT.ico	MTA	TPRO	6.77	112	758.24
1ZAZHUBJ1	27/08/2025	16:57:40	Buy	IT.ico	MTA	TPRO	6.77	141	954.57
1ZAZHUBL5	27/08/2025	16:59:12	Buy	IT.ico	MTA	TPRO	6.77	13	88.01
1ZAZHUBLA	27/08/2025	16:59:18	Buy	IT.ico	MTA	TPRO	6.77	13	88.01
1ZAZHUBME	27/08/2025	17:00:31	Buy	IT.ico	MTA	TPRO	6.77	38	257.26
1ZAZHUBOA	27/08/2025	17:01:45	Buy	IT.ico	MTA	TPRO	6.77	142	961.34
1ZAZHUBOL	27/08/2025	17:02:03	Buy	IT.ico	MTA	TPRO	6.77	500	3385
1ZAZHUBOM	27/08/2025	17:02:03	Buy	IT.ico	MTA	TPRO	6.77	505	3418.85
1ZAZHUBOX	27/08/2025	17:02:29	Buy	IT.ico	MTA	TPRO	6.77	515	3486.55
1ZAZHUBOY	27/08/2025	17:02:29	Buy	IT.ico	MTA	TPRO	6.77	45	304.65
1ZAZHUBOZ	27/08/2025	17:02:34	Buy	IT.ico	MTA	TPRO	6.77	510	3452.7
1ZAZHUBP0	27/08/2025	17:02:34	Buy	IT.ico	MTA	TPRO	6.77	13	88.01
1ZAZHUBRZ	27/08/2025	17:04:57	Buy	IT.ico	MTA	TPRO	6.77	761	5151.97
1ZAZHUBS0	27/08/2025	17:04:57	Buy	IT.ico	MTA	TPRO	6.77	13	88.01
1ZAZHUBS1	27/08/2025	17:04:57	Buy	IT.ico	MTA	TPRO	6.77	2	13.54
1ZAZHUBS2	27/08/2025	17:04:57	Buy	IT.ico	MTA	TPRO	6.77	11	74.47
1ZAZHUBS3	27/08/2025	17:04:57	Buy	IT.ico	MTA	TPRO	6.77	2	13.54
1ZAZHUBS4	27/08/2025	17:04:57	Buy	IT.ico	MTA	TPRO	6.77	211	1428.47
1ZAZHUBT7	27/08/2025	17:05:42	Buy	IT.ico	MTA	TPRO	6.77	4	27.08
1ZAZHUBT8	27/08/2025	17:05:42	Buy	IT.ico	MTA	TPRO	6.77	996	6742.92
1ZAZHUBT9	27/08/2025	17:05:46	Buy	IT.ico	MTA	TPRO	6.77	156	1056.12
1ZAZHUBTA	27/08/2025	17:05:47	Buy	IT.ico	MTA	TPRO	6.77	844	5713.88
1ZAZHUBTB	27/08/2025	17:05:56	Buy	IT.ico	MTA	TPRO	6.77	1,000	6770
			'						









1ZAZHUBVV	27/08/2025	17:08:11	Buy	IT.ico	MTA	TPRO	6.775	320	2168
1ZAZHUBVW	27/08/2025	17:08:11	Buy	IT.ico	MTA	TPRO	6.775	428	2899.7
1ZAZHUBVX	27/08/2025	17:08:11	Buy	IT.ico	MTA	TPRO	6.775	543	3678.825
1ZAZHUC15	27/08/2025	17:13:03	Buy	IT.ico	MTA	TPRO	6.775	153	1036.575
1ZAZHUC2E	27/08/2025	17:14:09	Buy	IT.ico	MTA	TPRO	6.775	149	1009.475
1ZAZHUC3I	27/08/2025	17:15:12	Buy	IT.ico	MTA	TPRO	6.775	27	182.925
1ZAZHUC3J	27/08/2025	17:15:12	Buy	IT.ico	MTA	TPRO	6.775	162	1097.55
1ZAZHUC3K	27/08/2025	17:15:13	Buy	IT.ico	MTA	TPRO	6.775	11	74.525
1ZAZHUC3L	27/08/2025	17:15:13	Buy	IT.ico	MTA	TPRO	6.775	989	6700.475
1ZAZHUC49	27/08/2025	17:15:31	Buy	IT.ico	MTA	TPRO	6.775	264	1788.6
1ZAZHUC4A	27/08/2025	17:15:31	Buy	IT.ico	MTA	TPRO	6.775	74	501.35
1ZAZHUC4B	27/08/2025	17:15:31	Buy	IT.ico	MTA	TPRO	6.775	68	460.7
1ZAZHUC5P	27/08/2025	17:16:01	Buy	IT.ico	MTA	TPRO	6.77	382	2586.14
1ZAZHUJ08	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.89	136	937.04
1ZAZHUJ09	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.89	141	971.49
1ZAZHUJ0A	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHUJ0B	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.895	151	1041.145
1ZAZHUJ0C	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.895	1,150	7929.25
1ZAZHUJ0D	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.895	134	923.93
1ZAZHUJ0E	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.895	136	937.72
1ZAZHUJ0F	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.895	875	6033.125
1ZAZHUJ0G	28/08/2025	10:30:17	Buy	IT.ico	MTA	TPRO	6.895	3,277	22594.92
1ZAZHUJ0O	28/08/2025	10:30:22	Buy	IT.ico	MTA	TPRO	6.89	131	902.59
1ZAZHUJ0P	28/08/2025	10:30:22	Buy	IT.ico	MTA	TPRO	6.895	6,869	47361.76
1ZAZHUJ12	28/08/2025	10:30:31	Buy	IT.ico	MTA	TPRO	6.89	250	1722.5
1ZAZHUJ13	28/08/2025	10:30:31	Buy	IT.ico	MTA	TPRO	6.89	149	1026.61
1ZAZHUJ14	28/08/2025	10:30:31	Buy	IT.ico	MTA	TPRO	6.89	140	964.6
1ZAZHUJ15	28/08/2025	10:30:31	Buy	IT.ico	MTA	TPRO	6.89	130	895.7
1ZAZHUJ16	28/08/2025	10:30:31	Buy	IT.ico	MTA	TPRO	6.895	6,331	43652.25
1ZAZHUJ1T	28/08/2025	10:30:42	Buy	IT.ico	MTA	TPRO	6.895	3,523	24291.09
1ZAZHUJ1U	28/08/2025	10:30:42	Buy	IT.ico	MTA	TPRO	6.895	144	992.88
1ZAZHUJ1V	28/08/2025	10:30:42	Buy	IT.ico	MTA	TPRO	6.9	300	2070
1ZAZHUJ1W	28/08/2025	10:30:42	Buy	IT.ico	MTA	TPRO	6.9	33	227.7
1ZAZHUJ1Z	28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.895	150	1034.25
1ZAZHUJ20	28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.895	122	841.19
1ZAZHUJ21	28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.895	120	827.4
1ZAZHUJ22	28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.9	2,467	17022.3
1ZAZHUJ23	28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.9	3,000	20700









1ZAZHUJ24 1ZAZHUJ25	28/08/2025 28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.9	2,000	13800
	20/00/2023	10:30:50	Buy	IT.ico	MTA	TPRO	6.9	854	5892.6
1ZAZHUJ26	28/08/2025	10:30:50	Buy	IT.ico	MTA	TPRO	6.9	659	4547.1
1ZAZHUJ2G	28/08/2025	10:31:10	Buy	IT.ico	MTA	TPRO	6.9	628	4333.2
1ZAZHV2YY	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.835	118	806.53
1ZAZHV2YZ	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.835	85	580.975
1ZAZHV2Z0	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.84	147	1005.48
1ZAZHV2Z1	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.84	141	964.44
1ZAZHV2Z2	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.84	380	2599.2
1ZAZHV2Z3	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.84	882	6032.88
1ZAZHV2Z4	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	464	3176.08
1ZAZHV2Z5	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	902	6174.19
1ZAZHV2Z6	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	788	5393.86
1ZAZHV2Z7	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	151	1033.595
1ZAZHV2Z8	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	145	992.525
1ZAZHV2Z9	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	952	6516.44
1ZAZHV2ZA	28/08/2025	13:26:26	Buy	IT.ico	MTA	TPRO	6.845	1,845	12629.03
1ZAZHV2ZC	28/08/2025	13:26:30	Buy	IT.ico	MTA	TPRO	6.84	139	950.76
1ZAZHV2ZD	28/08/2025	13:26:30	Buy	IT.ico	MTA	TPRO	6.84	128	875.52
1ZAZHV2ZE	28/08/2025	13:26:30	Buy	IT.ico	MTA	TPRO	6.845	2,095	14340.28
1ZAZHV2ZF	28/08/2025	13:26:30	Buy	IT.ico	MTA	TPRO	6.845	4,638	31747.11
1ZAZHV307	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.83	1,710	11679.3
1ZAZHV308	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.83	189	1290.87
1ZAZHV309	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.835	191	1305.485
1ZAZHV30A	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.835	148	1011.58
1ZAZHV30B	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.835	137	936.395
1ZAZHV30C	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.84	190	1299.6
1ZAZHV30D	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.84	150	1026
1ZAZHV30E	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.84	969	6627.96
1ZAZHV30F	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.84	135	923.4
1ZAZHV30G	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.845	582	3983.79
1ZAZHV30H	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.845	927	6345.315
1ZAZHV30I	28/08/2025	13:26:44	Buy	IT.ico	MTA	TPRO	6.845	672	4599.84
1ZAZHV33K	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.835	186	1271.31
1ZAZHV33L	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	157	1073.88
1ZAZHV33M	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	137	937.08
1ZAZHV33N	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	168	1149.12
1ZAZHV33O	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	1,000	6840









1ZAZHV33P	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	4,780	32695.2
1ZAZHV33Q	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	821	5615.64
1ZAZHV33R	28/08/2025	13:27:46	Buy	IT.ico	MTA	TPRO	6.84	2,751	18816.84
1ZAZHV40D	28/08/2025	13:41:51	Buy	IT.ico	MTA	TPRO	6.84	250	1710
1ZAZHV40E	28/08/2025	13:41:51	Buy	IT.ico	MTA	TPRO	6.84	172	1176.48
1ZAZHV40F	28/08/2025	13:41:51	Buy	IT.ico	MTA	TPRO	6.84	130	889.2
1ZAZHV40G	28/08/2025	13:41:51	Buy	IT.ico	MTA	TPRO	6.84	139	950.76
1ZAZHV4BH	28/08/2025	13:47:10	Buy	IT.ico	MTA	TPRO	6.875	1,000	6875
1ZAZHV4UI	28/08/2025	13:53:33	Buy	IT.ico	MTA	TPRO	6.885	1,000	6885
1ZAZHV55O	28/08/2025	13:57:23	Buy	IT.ico	MTA	TPRO	6.875	27	185.625
1ZAZHV56R	28/08/2025	13:57:57	Buy	IT.ico	MTA	TPRO	6.875	500	3437.5
1ZAZHV5W8	28/08/2025	14:05:21	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHV6FE	28/08/2025	14:10:58	Buy	IT.ico	MTA	TPRO	6.87	763	5241.81
1ZAZHV6QD	28/08/2025	14:14:56	Buy	IT.ico	MTA	TPRO	6.87	1,000	6870
1ZAZHV7FI	28/08/2025	14:24:59	Buy	IT.ico	MTA	TPRO	6.885	78	537.03
1ZAZHV7SQ	28/08/2025	14:30:32	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHV7SR	28/08/2025	14:30:32	Buy	IT.ico	MTA	TPRO	6.89	250	1722.5
1ZAZHV7WT	28/08/2025	14:31:35	Buy	IT.ico	MTA	TPRO	6.9	24	165.6
1ZAZHV7ZT	28/08/2025	14:32:19	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHV9RI	28/08/2025	14:55:49	Buy	IT.ico	MTA	TPRO	6.9	100	690
1ZAZHV9RJ	28/08/2025	14:55:49	Buy	IT.ico	MTA	TPRO	6.9	838	5782.2
1ZAZHV9RK	28/08/2025	14:55:49	Buy	IT.ico	MTA	TPRO	6.9	62	427.8
1ZAZHV9SK	28/08/2025	14:55:50	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHV9SL	28/08/2025	14:55:50	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHV9WM	28/08/2025	14:57:56	Buy	IT.ico	MTA	TPRO	6.9	250	1725
1ZAZHVE55	28/08/2025	15:48:45	Buy	IT.ico	MTA	TPRO	6.9	742	5119.8
1ZAZHVEF6	28/08/2025	15:50:25	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHVEF7	28/08/2025	15:50:25	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHVEFE	28/08/2025	15:50:30	Buy	IT.ico	MTA	TPRO	6.895	69	475.755
1ZAZHVEFH	28/08/2025	15:50:31	Buy	IT.ico	MTA	TPRO	6.895	42	289.59
1ZAZHVEFI	28/08/2025	15:50:31	Buy	IT.ico	MTA	TPRO	6.895	958	6605.41
1ZAZHVEFJ	28/08/2025	15:50:37	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHVEFY	28/08/2025	15:50:44	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHVEG2	28/08/2025	15:50:44	Buy	IT.ico	MTA	TPRO	6.895	250	1723.75
1ZAZHVEG3	28/08/2025	15:50:44	Buy	IT.ico	MTA	TPRO	6.895	158	1089.41
1ZAZHVEG4	28/08/2025	15:50:44	Buy	IT.ico	MTA	TPRO	6.895	142	979.09
1ZAZHVEG5	28/08/2025	15:50:44	Buy	IT.ico	MTA	TPRO	6.895	450	3102.75
1ZAZHVEG7	28/08/2025	15:50:46	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890









Tazahveria   28/08/2025   15:50:57   Buy   Tiloo   MTA   TPRO   6.89   60   413.4     Tazahveria   28/08/2025   15:52:12   Buy   Tiloo   MTA   TPRO   6.89   184   1267.76     Tazahveria   28/08/2025   15:52:12   Buy   Tiloo   MTA   TPRO   6.9   47   324.3     Tazahveria   28/08/2025   15:52:32   Buy   Tiloo   MTA   TPRO   6.9   47   324.3     Tazahveria   28/08/2025   15:53:32   Buy   Tiloo   MTA   TPRO   6.9   1,000   6900     Tazahveria   28/08/2025   15:53:45   Buy   Tiloo   MTA   TPRO   6.9   1,000   6900     Tazahveria   28/08/2025   15:53:45   Buy   Tiloo   MTA   TPRO   6.9   10.00   6900     Tazahveria   28/08/2025   15:53:45   Buy   Tiloo   MTA   TPRO   6.9   137   945.3     Tazahveria   28/08/2025   15:53:45   Buy   Tiloo   MTA   TPRO   6.9   153   1055.7     Tazahveria   28/08/2025   15:53:45   Buy   Tiloo   MTA   TPRO   6.9   154   1062.6     Tazahveria   28/08/2025   15:53:46   Buy   Tiloo   MTA   TPRO   6.9   154   1062.6     Tazahveria   28/08/2025   15:53:46   Buy   Tiloo   MTA   TPRO   6.9   132   910.8     Tazahveria   28/08/2025   15:53:46   Buy   Tiloo   MTA   TPRO   6.9   132   910.8     Tazahveria   28/08/2025   15:53:46   Buy   Tiloo   MTA   TPRO   6.9   132   910.8     Tazahveria   28/08/2025   15:53:46   Buy   Tiloo   MTA   TPRO   6.9   90   483     Tazahveria   28/08/2025   15:53:48   Buy   Tiloo   MTA   TPRO   6.9   90   483     Tazahveria   28/08/2025   15:53:48   Buy   Tiloo   MTA   TPRO   6.9   90   483     Tazahveria   28/08/2025   15:53:48   Buy   Tiloo   MTA   TPRO   6.9   90   483     Tazahveria   28/08/2025   15:53:48   Buy   Tiloo   MTA   TPRO   6.9   90   483     Tazahveria   28/08/2025   15:53:48   Buy   Tiloo   MTA   TPRO   6.89   1,000   6890     Tazahveria   28/08/2025   16:03:33   Buy   Tiloo   MTA   TPRO   6.89   1,000   6890     Tazahveria   28/08/2025   16:03:33   Buy   Tiloo   MTA   TPRO   6.89   1,000   6895     Tazahveria   28/08/2025   16:15:43   Buy   Tiloo   MTA   TPRO   6.89   1,000   6895     Tazahveria   28/08/2025   16:23:17   Buy   Tiloo   MTA   TPRO   6.	1ZAZHVEG8	28/08/2025	15:50:48	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
12AZHVEHS				,					,	
1ZAZHVEPS   28/08/2025   15:52:32   Buy   IT.ico   MTA   TPRO   6.9   47   324.3     1ZAZHVEYR   28/08/2025   15:53:44   Buy   IT.ico   MTA   TPRO   6.9   1.000   6900     1ZAZHVEXZ   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   1.000   6900     1ZAZHVEXZ   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   1.000   6900     1ZAZHVEXZ   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   1.000   6900     1ZAZHVEXZ   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   137   945.3     1ZAZHVEXZ   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   153   1055.7     1ZAZHVEXZ   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   154   1062.6     1ZAZHVEXB   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   154   1062.6     1ZAZHVEXB   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   132   910.8     1ZAZHVEXB   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   132   910.8     1ZAZHVEXD   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     1ZAZHVEXD   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     1ZAZHVEXD   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     1ZAZHVEXD   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   1,000   6900     1ZAZHVEXT   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     1ZAZHVEXT   28/08/2025   16:55:31   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     1ZAZHVEXT   28/08/2025   16:01:33   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     1ZAZHVHA   28/08/2025   16:01:33   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     1ZAZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     1ZAZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     1ZAZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     1ZAZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   5.50   1723.75     1ZAZHVIN   28/08/2025   16:23:17   Buy   IT.ico										
12AZHVER   28/08/2025				,						
12AZHVEX1   28/08/2025   15:53:44   Buy   IT.ico   MTA   TPRO   6.9   1,000   6900     12AZHVEX6   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   250   1725     12AZHVEX7   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   137   945.3     12AZHVEX8   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   153   1055.7     12AZHVEX8   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   153   1055.7     12AZHVEX8   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   153   1055.7     12AZHVEX8   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   153   1055.7     12AZHVEXB   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   250   1725     12AZHVEXE   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   132   910.8     12AZHVEXE   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   70   483     12AZHVEXE   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     12AZHVEXQ   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   1,000   6900     12AZHVEXQ   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   1,000   6900     12AZHVEXG   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   1,000   6900     12AZHVEXA   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     12AZHVEXA   28/08/2025   16:53:48   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     12AZHVEKA   28/08/2025   16:53:31   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     12AZHVEGA   28/08/2025   16:03:33   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     12AZHVEGA   28/08/2025   16:15:31   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     12AZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     12AZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     12AZHVHA   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.895   1,000   6895     12AZHVHA   28/08/2025   16:24:3   Buy   IT.ico   MTA   TPRO   6.895   1,000   6895     12AZHVINA   28/08/2025   16:23:17   Buy   IT.ico										
TAZAHVEX2   28/08/2025   15:53:44   Buy   Ti.loo   MTA   TPRO   6.9   1,000   6900     TAZAHVEX6   28/08/2025   15:53:45   Buy   Ti.loo   MTA   TPRO   6.9   250   1725     TAZAHVEX7   28/08/2025   15:53:45   Buy   Ti.loo   MTA   TPRO   6.9   137   945.3     TAZAHVEX8   28/08/2025   15:53:45   Buy   Ti.loo   MTA   TPRO   6.9   153   1055.7     TAZAHVEX8   28/08/2025   15:53:45   Buy   Ti.loo   MTA   TPRO   6.9   153   1056.7     TAZAHVEXB   28/08/2025   15:53:45   Buy   Ti.loo   MTA   TPRO   6.9   154   1062.6     TAZAHVEXB   28/08/2025   15:53:46   Buy   Ti.loo   MTA   TPRO   6.9   250   1725     TAZAHVEXC   28/08/2025   15:53:46   Buy   Ti.loo   MTA   TPRO   6.9   132   910.8     TAZAHVEXE   28/08/2025   15:53:46   Buy   Ti.loo   MTA   TPRO   6.9   70   483     TAZAHVEXD   28/08/2025   15:53:47   Buy   Ti.loo   MTA   TPRO   6.9   96   662.4     TAZAHVEXQ   28/08/2025   15:53:48   Buy   Ti.loo   MTA   TPRO   6.9   96   662.4     TAZAHVEXQ   28/08/2025   15:53:48   Buy   Ti.loo   MTA   TPRO   6.9   1,000   6900     TAZAHVEXQ   28/08/2025   15:53:48   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6890     TAZAHVEXQ   28/08/2025   16:03:33   Buy   Ti.loo   MTA   TPRO   6.88   1,000   6880     TAZAHVEXJ   28/08/2025   16:03:33   Buy   Ti.loo   MTA   TPRO   6.88   704   4847.04     TAZAHVEJ   28/08/2025   16:08:03   Buy   Ti.loo   MTA   TPRO   6.89   788   5429.32     TAZAHVHI   28/08/2025   16:15:31   Buy   Ti.loo   MTA   TPRO   6.89   788   5429.32     TAZAHVHI   28/08/2025   16:15:43   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6890     TAZAHVHI   28/08/2025   16:15:43   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6890     TAZAHVHI   28/08/2025   16:15:43   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6890     TAZAHVHI   28/08/2025   16:15:43   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6895     TAZAHVHI   28/08/2025   16:26:47   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6895     TAZAHVINE   28/08/2025   16:26:47   Buy   Ti.loo   MTA   TPRO   6.89   1,000   6895     TAZAHVINE   28/08/2025   16:29:10   Buy   Ti.loo				,						
Tazahnera   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   250   1725     Tazahnera   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   137   945.3     Tazahnera   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   153   1055.7     Tazahnera   28/08/2025   15:53:45   Buy   IT.ico   MTA   TPRO   6.9   154   1062.6     Tazahnera   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   154   1062.6     Tazahnera   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   132   910.8     Tazahnera   28/08/2025   15:53:46   Buy   IT.ico   MTA   TPRO   6.9   70   483     Tazahnera   28/08/2025   15:53:47   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     Tazahnera   28/08/2025   15:53:47   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     Tazahnera   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   96   662.4     Tazahnera   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.9   1,000   6900     Tazahnera   28/08/2025   15:53:48   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     Tazahnera   28/08/2025   16:01:52   Buy   IT.ico   MTA   TPRO   6.88   1,000   6885     Tazahnera   28/08/2025   16:01:52   Buy   IT.ico   MTA   TPRO   6.88   704   4847.04     Tazahnera   28/08/2025   16:03:33   Buy   IT.ico   MTA   TPRO   6.89   788   5423.2     Tazahnera   28/08/2025   16:03:33   Buy   IT.ico   MTA   TPRO   6.89   788   5423.2     Tazahnera   28/08/2025   16:13:31   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     Tazahnera   28/08/2025   16:15:31   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     Tazahnera   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890     Tazahnera   28/08/2025   16:15:43   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     Tazahnera   28/08/2025   16:26:47   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     Tazahnera   28/08/2025   16:26:47   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     Tazahnera   28/08/2025   16:29:10   Buy   IT.ico   MTA   TPRO   6.89   1,000   6895     Tazahnera   28/08/2025   16:29:10   Buy   IT										
Tazativex7   28/08/2025   15:53:45   Buy   IT.lico   MTA   TPRO   6.9   153   1055.7				,						
Tazativexa   28/08/2025   15:53:45   Buy   IT.lico   MTA   TPRO   6.9   153   1055.7										
Tazativena				,						
Tazation   Tazation										
Tazaty   T	1ZAZHVEX9			Buy	IT.ico	MTA		6.9		1062.6
Tazaty   T				Buy						
Tazaty   T				Buy					132	
Tazaty	1ZAZHVEXE	28/08/2025	15:53:46	Buy		MTA	TPRO		70	483
Tazatyffx   28/08/2025   15:55:31   Buy   IT.ico   MTA   TPRO   6.89   1,000   6890	1ZAZHVEXO	28/08/2025	15:53:47	Buy	IT.ico	MTA	TPRO	6.9	96	662.4
Tazatyfra   28/08/2025   15:58:44   Buy   IT.ico   MTA   TPRO   6.885   1,000   6885	1ZAZHVEXQ	28/08/2025	15:53:48	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
Tazityfyj   28/08/2025   16:01:52   Buy   IT.ico   MTA   TPRO   6.885   704   4847.04	1ZAZHVF7X	28/08/2025	15:55:31	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHVG4I         28/08/2025         16:03:33         Buy         IT.ico         MTA         TPRO         6.89         788         5429.32           1ZAZHVGN2         28/08/2025         16:08:03         Buy         IT.ico         MTA         TPRO         6.89         1,000         6890           1ZAZHVH73         28/08/2025         16:13:38         Buy         IT.ico         MTA         TPRO         6.89         1,000         6890           1ZAZHVHIS         28/08/2025         16:15:31         Buy         IT.ico         MTA         TPRO         6.89         84         578.76           1ZAZHVHJ1         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         390         2685.15           1ZAZHVHJ2         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         610         4199.85           1ZAZHVHPA         28/08/2025         16:27:14         Buy         IT.ico         MTA         TPRO         6.885         1,000         6880           1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895 <th>1ZAZHVFK3</th> <th>28/08/2025</th> <th>15:58:44</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>6.885</th> <th>1,000</th> <th>6885</th>	1ZAZHVFK3	28/08/2025	15:58:44	Buy	IT.ico	MTA	TPRO	6.885	1,000	6885
TZAZHVGN2         28/08/2025         16:08:03         Buy         IT.ico         MTA         TPRO         6.89         1,000         6890           TZAZHVH73         28/08/2025         16:13:38         Buy         IT.ico         MTA         TPRO         6.89         1,000         6890           TZAZHVHIS         28/08/2025         16:15:31         Buy         IT.ico         MTA         TPRO         6.89         84         578.76           TZAZHVHJ1         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         390         2685.15           TZAZHVHJ2         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         610         4199.85           TZAZHVIPA         28/08/2025         16:17:14         Buy         IT.ico         MTA         TPRO         6.885         1,000         6880           TZAZHVIBA         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           TZAZHVINI         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04 <th>1ZAZHVFVJ</th> <th>28/08/2025</th> <th>16:01:52</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>6.885</th> <th>704</th> <th>4847.04</th>	1ZAZHVFVJ	28/08/2025	16:01:52	Buy	IT.ico	MTA	TPRO	6.885	704	4847.04
1ZAZHVH73         28/08/2025         16:13:38         Buy         IT.ico         MTA         TPRO         6.89         1,000         6890           1ZAZHVHIS         28/08/2025         16:15:31         Buy         IT.ico         MTA         TPRO         6.89         84         578.76           1ZAZHVHJ1         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         390         2685.15           1ZAZHVHJ2         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         610         4199.85           1ZAZHVHPA         28/08/2025         16:17:14         Buy         IT.ico         MTA         TPRO         6.885         1,000         6880           1ZAZHVIB9         28/08/2025         16:23:17         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04 </th <th>1ZAZHVG4I</th> <th>28/08/2025</th> <th>16:03:33</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>6.89</th> <th>788</th> <th>5429.32</th>	1ZAZHVG4I	28/08/2025	16:03:33	Buy	IT.ico	MTA	TPRO	6.89	788	5429.32
1ZAZHVHIS         28/08/2025         16:15:31         Buy         IT.ico         MTA         TPRO         6.89         84         578.76           1ZAZHVHJ1         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         390         2685.15           1ZAZHVHJ2         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         610         4199.85           1ZAZHVHPA         28/08/2025         16:17:14         Buy         IT.ico         MTA         TPRO         6.885         1,000         6880           1ZAZHVIBA         28/08/2025         16:23:17         Buy         IT.ico         MTA         TPRO         6.895         1,000         6885           1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVIIL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415	1ZAZHVGN2	28/08/2025	16:08:03	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHVHJ1         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         390         2685.15           1ZAZHVHJ2         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         610         4199.85           1ZAZHVHPA         28/08/2025         16:17:14         Buy         IT.ico         MTA         TPRO         6.88         1,000         6880           1ZAZHVII9         28/08/2025         16:23:17         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVIIW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVII2         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         138         951.51	1ZAZHVH73	28/08/2025	16:13:38	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHVHJ2         28/08/2025         16:15:43         Buy         IT.ico         MTA         TPRO         6.885         610         4199.85           1ZAZHVHPA         28/08/2025         16:17:14         Buy         IT.ico         MTA         TPRO         6.88         1,000         6880           1ZAZHVI39         28/08/2025         16:23:17         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVII2         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88	1ZAZHVHIS	28/08/2025	16:15:31	Buy	IT.ico	MTA	TPRO	6.89	84	578.76
1ZAZHVHPA         28/08/2025         16:17:14         Buy         IT.ico         MTA         TPRO         6.88         1,000         6880           1ZAZHVI39         28/08/2025         16:23:17         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVII2         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         250         1723.75           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINM         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVIQZ         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88	1ZAZHVHJ1	28/08/2025	16:15:43	Buy	IT.ico	MTA	TPRO	6.885	390	2685.15
1ZAZHVI39         28/08/2025         16:23:17         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.9         8         55.2           1ZAZHVII2         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         250         1723.75           1ZAZHVINK         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         899         6185.12 <th>1ZAZHVHJ2</th> <th>28/08/2025</th> <th>16:15:43</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>6.885</th> <th>610</th> <th>4199.85</th>	1ZAZHVHJ2	28/08/2025	16:15:43	Buy	IT.ico	MTA	TPRO	6.885	610	4199.85
1ZAZHVIHW         28/08/2025         16:26:43         Buy         IT.ico         MTA         TPRO         6.9         8         55.2           1ZAZHVIII2         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         250         1723.75           1ZAZHVINK         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVJSR         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26	1ZAZHVHPA	28/08/2025	16:17:14	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHVII2         28/08/2025         16:26:47         Buy         IT.ico         MTA         TPRO         6.895         1,000         6895           1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         250         1723.75           1ZAZHVINK         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885     <	1ZAZHVI39	28/08/2025	16:23:17	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHVINJ         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         250         1723.75           1ZAZHVINK         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVIHW	28/08/2025	16:26:43	Buy	IT.ico	MTA	TPRO	6.9	8	55.2
1ZAZHVINK         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         152         1048.04           1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIQZ         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVJSR         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.88         899         6185.12           1ZAZHVJSU         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVII2	28/08/2025	16:26:47	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHVINL         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         177         1220.415           1ZAZHVINM         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIQZ         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         899         6185.12           1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVINJ	28/08/2025	16:29:10	Buy	IT.ico	MTA	TPRO	6.895	250	1723.75
1ZAZHVINM         28/08/2025         16:29:10         Buy         IT.ico         MTA         TPRO         6.895         138         951.51           1ZAZHVIQZ         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         899         6185.12           1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVINK	28/08/2025	16:29:10	Buy	IT.ico	MTA	TPRO	6.895	152	1048.04
1ZAZHVIQZ         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         101         694.88           1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         899         6185.12           1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVINL	28/08/2025	16:29:10	Buy	IT.ico	MTA	TPRO	6.895	177	1220.415
1ZAZHVIRO         28/08/2025         16:31:08         Buy         IT.ico         MTA         TPRO         6.88         899         6185.12           1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVINM	28/08/2025	16:29:10	Buy	IT.ico	MTA	TPRO	6.895	138	951.51
1ZAZHVJ5R         28/08/2025         16:37:17         Buy         IT.ico         MTA         TPRO         6.89         34         234.26           1ZAZHVJ5U         28/08/2025         16:37:20         Buy         IT.ico         MTA         TPRO         6.885         1,000         6885	1ZAZHVIQZ	28/08/2025	16:31:08	Buy	IT.ico	MTA	TPRO	6.88	101	694.88
1ZAZHVJ5U 28/08/2025 16:37:20 Buy IT.ico MTA TPRO 6.885 1,000 6885	1ZAZHVIR0	28/08/2025	16:31:08	Buy	IT.ico	MTA	TPRO	6.88	899	6185.12
	1ZAZHVJ5R	28/08/2025	16:37:17	Buy	IT.ico	MTA	TPRO	6.89	34	234.26
1ZAZHVJ6R 28/08/2025 16:38:13 Buy IT.ico MTA TPRO 6.885 20 137.7	1ZAZHVJ5U	28/08/2025	16:37:20	Buy	IT.ico	MTA	TPRO	6.885	1,000	6885
	1ZAZHVJ6R	28/08/2025		Buy	IT.ico	MTA	TPRO	6.885	20	137.7









1ZAZHVJ78	28/08/2025	16:38:23	Buy	IT.ico	MTA	TPRO	6.89	122	840.58
1ZAZHVJ7H	28/08/2025	16:38:35	Buy	IT.ico	MTA	TPRO	6.89	128	881.92
1ZAZHVJ8C	28/08/2025	16:39:02	Buy	IT.ico	MTA	TPRO	6.89	48	330.72
1ZAZHVJ8K	28/08/2025	16:39:11	Buy	IT.ico	MTA	TPRO	6.89	50	344.5
1ZAZHVJBD	28/08/2025	16:40:23	Buy	IT.ico	MTA	TPRO	6.89	73	502.97
1ZAZHVJBE	28/08/2025		Buy	IT.ico	MTA	TPRO	6.89	74	509.86
		16:40:23	•						5877.17
1ZAZHVJBF	28/08/2025	16:40:23	Buy	IT.ico	MTA	TPRO	6.89	853	
1ZAZHVJK2	28/08/2025	16:45:18	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHVJKN	28/08/2025	16:45:58	Buy	IT.ico	MTA	TPRO	6.89	12	82.68
1ZAZHVJM0	28/08/2025	16:46:42	Buy	IT.ico	MTA	TPRO	6.89	169	1164.41
1ZAZHVJOW	28/08/2025	16:49:18	Buy	IT.ico	MTA	TPRO	6.9	14	96.6
1ZAZHVJPR	28/08/2025	16:49:47	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHVJPS	28/08/2025	16:49:47	Buy	IT.ico	MTA	TPRO	6.9	668	4609.2
1ZAZHVJPT	28/08/2025	16:49:47	Buy	IT.ico	MTA	TPRO	6.9	332	2290.8
1ZAZHVJXP	28/08/2025	16:51:58	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHVKYK	28/08/2025	17:05:27	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHVKYM	28/08/2025	17:05:28	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHVKYW	28/08/2025	17:05:33	Buy	IT.ico	MTA	TPRO	6.89	160	1102.4
1ZAZHW168	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.88	101	694.88
1ZAZHW169	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.88	409	2813.92
1ZAZHW16A	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.885	451	3105.135
1ZAZHW16B	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.885	102	702.27
1ZAZHW16C	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.885	842	5797.17
1ZAZHW16D	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.89	229	1577.81
1ZAZHW16E	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.89	4,577	31535.53
1ZAZHW16F	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.89	847	5835.83
1ZAZHW16G	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.89	1,135	7820.15
1ZAZHW16H	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.89	4,779	32927.31
1ZAZHW16I	29/08/2025	10:54:52	Buy	IT.ico	MTA	TPRO	6.89	1,528	10527.92
1ZAZHW802	29/08/2025	14:35:06	Buy	IT.ico	MTA	TPRO	6.91	1,801	12444.91
1ZAZHW803	29/08/2025	14:35:06	Buy	IT.ico	MTA	TPRO	6.91	164	1133.24
1ZAZHW804	29/08/2025	14:35:06	Buy	IT.ico	MTA	TPRO	6.91	2,666	18422.06
1ZAZHW805	29/08/2025	14:35:06	Buy	IT.ico	MTA	TPRO	6.91	266	1838.06
1ZAZHW806	29/08/2025	14:35:06	Buy	IT.ico	MTA	TPRO	6.91	5,103	35261.73
1ZAZHW9AC	29/08/2025	15:27:27	Buy	IT.ico	MTA	TPRO	6.9	323	2228.7
1ZAZHW9AD	29/08/2025	15:27:27	Buy	IT.ico	MTA	TPRO	6.9	1,443	9956.7
1ZAZHW9AE	29/08/2025	15:27:27	Buy	IT.ico	MTA	TPRO	6.905	250	1726.25
1ZAZHW9AF	29/08/2025	15:27:27	Buy	IT.ico	MTA	TPRO	6.905	677	4674.685









1ZAZHW9AG	29/08/2025	15:27:27	Buy	IT.ico	MTA	TPRO	6.905	4,856	33530.68
1ZAZHW9AH	29/08/2025	15:27:27	Buy	IT.ico	MTA	TPRO	6.905	2,451	16924.16
1ZAZHWA3I	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.86	250	1715
1ZAZHWA3J	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.86	499	3423.14
1ZAZHWA3K	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.865	433	2972.545
1ZAZHWA3L	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.87	500	3435
1ZAZHWA3M	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.87	2,500	17175
1ZAZHWA3N	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.87	809	5557.83
1ZAZHWA3O	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.87	1,157	7948.59
1ZAZHWA3P	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.87	1,148	7886.76
1ZAZHWA3Q	29/08/2025	15:48:02	Buy	IT.ico	MTA	TPRO	6.87	2,704	18576.48
1ZAZHWA3W	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.865	107	734.555
1ZAZHWA3X	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.87	214	1470.18
1ZAZHWA3Y	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.875	214	1471.25
1ZAZHWA3Z	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.875	400	2750
1ZAZHWA40	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.88	238	1637.44
1ZAZHWA41	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.88	790	5435.2
1ZAZHWA42	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.88	2,180	14998.4
1ZAZHWA43	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.88	787	5414.56
1ZAZHWA44	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWA45	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	867	5969.295
1ZAZHWA46	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	2,500	17212.5
1ZAZHWA47	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	6,422	44215.47
1ZAZHWA48	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	6,944	47809.44
1ZAZHWA49	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	4,672	32166.72
1ZAZHWA4A	29/08/2025	15:48:14	Buy	IT.ico	MTA	TPRO	6.885	3,415	23512.28
1ZAZHWAF1	29/08/2025	15:54:11	Buy	IT.ico	MTA	TPRO	6.87	466	3201.42
1ZAZHWAF2	29/08/2025	15:54:11	Buy	IT.ico	MTA	TPRO	6.87	466	3201.42
1ZAZHWAI4	29/08/2025	15:55:46	Buy	IT.ico	MTA	TPRO	6.885	3	20.655
1ZAZHWAI5	29/08/2025	15:55:46	Buy	IT.ico	MTA	TPRO	6.885	65	447.525
1ZAZHWAI9	29/08/2025	15:55:48	Buy	IT.ico	MTA	TPRO	6.89	152	1047.28
1ZAZHWAIA	29/08/2025	15:55:52	Buy	IT.ico	MTA	TPRO	6.89	141	971.49
1ZAZHWAII	29/08/2025	15:56:02	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWAIJ	29/08/2025	15:56:04	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWAJY	29/08/2025	15:56:21	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHWALI	29/08/2025	15:57:48	Buy	IT.ico	MTA	TPRO	6.88	35	240.8
1ZAZHWAOX	29/08/2025	16:00:06	Buy	IT.ico	MTA	TPRO	6.875	521	3581.875
1ZAZHWAOY	29/08/2025	16:00:06	Buy	IT.ico	MTA	TPRO	6.875	479	3293.125









1ZAZHWAPR	29/08/2025	16:00:34	Buy	IT.ico	MTA	TPRO	6.87	45	309.15
1ZAZHWAT8	29/08/2025	16:03:12	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHWAT9	29/08/2025	16:03:12	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHWATL	29/08/2025	16:03:35	Buy	IT.ico	MTA	TPRO	6.86	1,000	6860
1ZAZHWB0J	29/08/2025	16:06:44	Buy	IT.ico	MTA	TPRO	6.855	1,000	6855
1ZAZHWB2Q	29/08/2025	16:08:16	Buy	IT.ico	MTA	TPRO	6.845	1,000	6845
1ZAZHWB4Y	29/08/2025	16:10:25	Buy	IT.ico	MTA	TPRO	6.835	787	5379.145
1ZAZHWB4Z	29/08/2025	16:10:25	Buy	IT.ico	MTA	TPRO	6.835	213	1455.855
1ZAZHWB8E	29/08/2025	16:12:30	Buy	IT.ico	MTA	TPRO	6.825	1,000	6825
1ZAZHWBBA	29/08/2025	16:15:29	Buy	IT.ico	MTA	TPRO	6.82	1,000	6820
1ZAZHWBEN	29/08/2025	16:18:04	Buy	IT.ico	MTA	TPRO	6.82	36	245.52
1ZAZHWBFP	29/08/2025	16:18:59	Buy	IT.ico	MTA	TPRO	6.82	1,000	6820
1ZAZHWBFQ	29/08/2025	16:18:59	Buy	IT.ico	MTA	TPRO	6.82	1,000	6820
1ZAZHWBIG	29/08/2025	16:21:06	Buy	IT.ico	MTA	TPRO	6.82	1,000	6820
1ZAZHWBKI	29/08/2025	16:23:23	Buy	IT.ico	MTA	TPRO	6.82	1,000	6820
1ZAZHWBTJ	29/08/2025	16:26:18	Buy	IT.ico	MTA	TPRO	6.825	689	4702.425
1ZAZHWBTK	29/08/2025	16:26:18	Buy	IT.ico	MTA	TPRO	6.825	311	2122.575
1ZAZHWBUP	29/08/2025	16:27:09	Buy	IT.ico	MTA	TPRO	6.835	46	314.41
1ZAZHWBUR	29/08/2025	16:27:14	Buy	IT.ico	MTA	TPRO	6.83	617	4214.11
1ZAZHWBUS	29/08/2025	16:27:14	Buy	IT.ico	MTA	TPRO	6.83	383	2615.89
1ZAZHWBXM	29/08/2025	16:29:14	Buy	IT.ico	MTA	TPRO	6.83	1,000	6830
1ZAZHWC0R	29/08/2025	16:32:52	Buy	IT.ico	MTA	TPRO	6.835	601	4107.835
1ZAZHWC0S	29/08/2025	16:32:53	Buy	IT.ico	MTA	TPRO	6.835	1,000	6835
1ZAZHWC3J	29/08/2025	16:36:08	Buy	IT.ico	MTA	TPRO	6.84	222	1518.48
1ZAZHWC3L	29/08/2025	16:36:16	Buy	IT.ico	MTA	TPRO	6.84	695	4753.8
1ZAZHWC3M	29/08/2025	16:36:16	Buy	IT.ico	MTA	TPRO	6.84	305	2086.2
1ZAZHWC3R	29/08/2025	16:36:27	Buy	IT.ico	MTA	TPRO	6.84	200	1368
1ZAZHWC3V	29/08/2025	16:36:51	Buy	IT.ico	MTA	TPRO	6.84	1,000	6840
1ZAZHWC4V	29/08/2025	16:38:46	Buy	IT.ico	MTA	TPRO	6.84	135	923.4
1ZAZHWC5B	29/08/2025	16:39:21	Buy	IT.ico	MTA	TPRO	6.84	11	75.24
1ZAZHWC5C	29/08/2025	16:39:24	Buy	IT.ico	MTA	TPRO	6.84	1,000	6840
1ZAZHWC77	29/08/2025	16:44:47	Buy	IT.ico	MTA	TPRO	6.84	1,000	6840
1ZAZHWC78	29/08/2025	16:44:47	Buy	IT.ico	MTA	TPRO	6.84	1,000	6840
1ZAZHWC7P	29/08/2025	16:45:02	Buy	IT.ico	MTA	TPRO	6.84	53	362.52
1ZAZHWC8D	29/08/2025	16:45:32	Buy	IT.ico	MTA	TPRO	6.835	80	546.8
1ZAZHWC8E	29/08/2025	16:45:32	Buy	IT.ico	MTA	TPRO	6.835	478	3267.13
1ZAZHWC8F	29/08/2025	16:45:32	Buy	IT.ico	MTA	TPRO	6.835	442	3021.07
1ZAZHWCC1	29/08/2025	16:48:43	Buy	IT.ico	MTA	TPRO	6.835	36	246.06









1ZAZHWCC3   29/08/2025   16:48:43   Buy   IT.ico   MTA   TPRO   6.835   173   174	1736.09 1182.455 136.6 4302.9 2390.5 409.5 6415.5 6815 4606.94
12AZHWCC4   29/08/2025   16:48:44   Buy   IT.ico   MTA   TPRO   6.83   20   13   14   15   15   15   15   15   15   15	136.6 4302.9 2390.5 409.5 6415.5 6815 4606.94
1ZAZHWCC5   29/08/2025   16:48:44   Buy   IT.ico   MTA   TPRO   6.83   630   43   1ZAZHWCF0   29/08/2025   16:48:44   Buy   IT.ico   MTA   TPRO   6.83   350   23   1ZAZHWCFV   29/08/2025   16:49:30   Buy   IT.ico   MTA   TPRO   6.825   60   44   1ZAZHWCFW   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.825   940   6.84   1ZAZHWCJC   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   1,000   68   1ZAZHWCJD   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   676   44   1ZAZHWCJD   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   676   44   1ZAZHWCJE   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   324   22   1ZAZHWCO2   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.81   263   13   12   12   12   12   12   12   1	4302.9 2390.5 409.5 6415.5 6815 4606.94
1ZAZHWCC6         29/08/2025         16:48:44         Buy         IT.ico         MTA         TPRO         6.83         350         22           1ZAZHWCFV         29/08/2025         16:49:30         Buy         IT.ico         MTA         TPRO         6.825         60         40           1ZAZHWCFW         29/08/2025         16:49:30         Buy         IT.ico         MTA         TPRO         6.825         940         66           1ZAZHWCJC         29/08/2025         16:52:33         Buy         IT.ico         MTA         TPRO         6.815         1,000         66           1ZAZHWCJD         29/08/2025         16:52:33         Buy         IT.ico         MTA         TPRO         6.815         324         22           1ZAZHWCJE         29/08/2025         16:57:28         Buy         IT.ico         MTA         TPRO         6.81         263         11           1ZAZHWCO2         29/08/2025         16:57:28         Buy         IT.ico         MTA         TPRO         6.805         26         11           1ZAZHWCO4         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         250         15           1ZAZHWCO5<	2390.5 409.5 6415.5 6815 4606.94
TZAZHWCFV   29/08/2025   16:49:30   Buy   IT.ico   MTA   TPRO   6.825   60   44	409.5 6415.5 6815 4606.94
1ZAZHWCFW   29/08/2025   16:49:30   Buy   IT.ico   MTA   TPRO   6:825   940   6:00	6415.5 6815 4606.94
1ZAZHWCJC   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   1,000   68   12AZHWCJD   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   676   44   12AZHWCJE   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.815   324   22   12AZHWCO2   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.81   263   17   12AZHWCO3   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.805   26   17   12AZHWCO4   29/08/2025   16:57:29   Buy   IT.ico   MTA   TPRO   6.805   39   26   12   12AZHWCO6   29/08/2025   16:57:33   Buy   IT.ico   MTA   TPRO   6.81   250   17   12AZHWCO7   29/08/2025   16:57:33   Buy   IT.ico   MTA   TPRO   6.81   250   17   12AZHWCO7   29/08/2025   16:58:02   Buy   IT.ico   MTA   TPRO   6.81   116   76   12AZHWCQB   29/08/2025   16:58:16   Buy   IT.ico   MTA   TPRO   6.805   1,000   66   12AZHWCRQ   29/08/2025   17:00:01   Buy   IT.ico   MTA   TPRO   6.81   157   11   12AZHWCRR   29/08/2025   17:00:06   Buy   IT.ico   MTA   TPRO   6.81   175   11   12AZHWCS4   29/08/2025   17:00:17   Buy   IT.ico   MTA   TPRO   6.81   125   88   12AZHWCVA   29/08/2025   17:00:17   Buy   IT.ico   MTA   TPRO   6.8   1.000   66   12AZHWDEV   29/08/2025   17:09:18   Buy   IT.ico   MTA   TPRO   6.8   459   33   12AZHWDHY   29/08/2025   17:09:18   Buy   IT.ico   MTA   TPRO   6.8   460   33   12AZHWDHZ   29/08/2025   17:09:18   Buy   IT.ico   MTA   TPRO   6.8   460   33   12AZHWDM2   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   33   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   T	5815 4606.94
1ZAZHWCJE   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   676   46   46   46   46   47   47   4	1606.94
1ZAZHWCJE   29/08/2025   16:52:33   Buy   IT.ico   MTA   TPRO   6.815   324   22   1ZAZHWCO2   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.81   263   17   1ZAZHWCO3   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.805   26   17   1ZAZHWCO4   29/08/2025   16:57:29   Buy   IT.ico   MTA   TPRO   6.805   39   26   17   1ZAZHWCO6   29/08/2025   16:57:33   Buy   IT.ico   MTA   TPRO   6.81   250   17   1ZAZHWCO7   29/08/2025   16:57:33   Buy   IT.ico   MTA   TPRO   6.81   750   50   1ZAZHWCPF   29/08/2025   16:58:02   Buy   IT.ico   MTA   TPRO   6.81   116   76   1ZAZHWCQB   29/08/2025   16:58:16   Buy   IT.ico   MTA   TPRO   6.805   1,000   66   1ZAZHWCRQ   29/08/2025   17:00:01   Buy   IT.ico   MTA   TPRO   6.81   157   10   12AZHWCRR   29/08/2025   17:00:06   Buy   IT.ico   MTA   TPRO   6.81   175   10   12AZHWCS4   29/08/2025   17:00:17   Buy   IT.ico   MTA   TPRO   6.81   125   88   12AZHWCVA   29/08/2025   17:00:06   Buy   IT.ico   MTA   TPRO   6.8   459   30   12AZHWDHY   29/08/2025   17:09:18   Buy   IT.ico   MTA   TPRO   6.8   1,000   66   12AZHWDHY   29/08/2025   17:09:18   Buy   IT.ico   MTA   TPRO   6.8   460   30   12AZHWDHZ   29/08/2025   17:09:18   Buy   IT.ico   MTA   TPRO   6.8   460   30   12AZHWDHZ   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.8   460   30   12AZHWDHZ   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO   6.795   546   30   12AZHWDM3   29/08/2025   17:11:31   Buy   IT.ico   MTA   TPRO	
1ZAZHWCO2   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.81   263   17   12AZHWCO3   29/08/2025   16:57:28   Buy   IT.ico   MTA   TPRO   6.805   26   17   12AZHWCO4   29/08/2025   16:57:29   Buy   IT.ico   MTA   TPRO   6.805   39   26   17   17   17   17   17   17   17   1	2208.06
1ZAZHWCO3         29/08/2025         16:57:28         Buy         IT.ico         MTA         TPRO         6.805         26         17           1ZAZHWCO4         29/08/2025         16:57:29         Buy         IT.ico         MTA         TPRO         6.805         39         26           1ZAZHWCO6         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         250         17           1ZAZHWCO7         29/08/2025         16:58:02         Buy         IT.ico         MTA         TPRO         6.81         750         55           1ZAZHWCPF         29/08/2025         16:58:02         Buy         IT.ico         MTA         TPRO         6.81         116         76           1ZAZHWCQB         29/08/2025         16:58:16         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.8         125         88           1ZAZHWDHY	
1ZAZHWCO4         29/08/2025         16:57:29         Buy         IT.ico         MTA         TPRO         6.805         39         26           1ZAZHWCO6         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         250         13           1ZAZHWCO7         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         750         55           1ZAZHWCPF         29/08/2025         16:58:02         Buy         IT.ico         MTA         TPRO         6.81         116         78           1ZAZHWCQB         29/08/2025         16:58:16         Buy         IT.ico         MTA         TPRO         6.805         1,000         68           1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCS4         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         125         88           1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDHZ <th>1791.03</th>	1791.03
1ZAZHWCO6         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         250         17           1ZAZHWCO7         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         750         55           1ZAZHWCPF         29/08/2025         16:58:02         Buy         IT.ico         MTA         TPRO         6.81         116         76           1ZAZHWCQB         29/08/2025         16:58:16         Buy         IT.ico         MTA         TPRO         6.805         1,000         66           1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCS4         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         125         88           1ZAZHWCVA         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         36           1ZAZHWDHZ	176.93
1ZAZHWCO7         29/08/2025         16:57:33         Buy         IT.ico         MTA         TPRO         6.81         750         5           1ZAZHWCPF         29/08/2025         16:58:02         Buy         IT.ico         MTA         TPRO         6.81         116         76           1ZAZHWCQB         29/08/2025         16:58:16         Buy         IT.ico         MTA         TPRO         6.805         1,000         68           1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCRR         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         175         17           1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.81         125         88           1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDM2	265.395
1ZAZHWCPF         29/08/2025         16:58:02         Buy         IT.ico         MTA         TPRO         6.81         116         78           1ZAZHWCQB         29/08/2025         16:58:16         Buy         IT.ico         MTA         TPRO         6.805         1,000         68           1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCRR         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         175         11           1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.81         125         88           1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3 <th>1702.5</th>	1702.5
1ZAZHWCQB         29/08/2025         16:58:16         Buy         IT.ico         MTA         TPRO         6.805         1,000         68           1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCRR         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         175         11           1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.81         125         85           1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         1,000         66           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         33           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3 <th>5107.5</th>	5107.5
1ZAZHWCRQ         29/08/2025         17:00:01         Buy         IT.ico         MTA         TPRO         6.81         157         10           1ZAZHWCRR         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         175         17           1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.81         125         85           1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         1,000         68           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         33           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	789.96
1ZAZHWCRR         29/08/2025         17:00:06         Buy         IT.ico         MTA         TPRO         6.81         175         17           1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.81         125         88           1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         33           1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         1,000         68           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         37           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	6805
1ZAZHWCS4         29/08/2025         17:00:17         Buy         IT.ico         MTA         TPRO         6.81         125         85           1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         3°           1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         1,000         68           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDHZ         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         3°           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	1069.17
1ZAZHWCVA         29/08/2025         17:02:20         Buy         IT.ico         MTA         TPRO         6.8         459         3:00           1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         1,000         66           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDHZ         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         33           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	1191.75
1ZAZHWDEV         29/08/2025         17:08:06         Buy         IT.ico         MTA         TPRO         6.8         1,000         68           1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDHZ         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         33           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	351.25
1ZAZHWDHY         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         540         36           1ZAZHWDHZ         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         33           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	3121.2
1ZAZHWDHZ         29/08/2025         17:09:18         Buy         IT.ico         MTA         TPRO         6.8         460         3°           1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         3°           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	6800
1ZAZHWDM2         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         546         33           1ZAZHWDM3         29/08/2025         17:11:31         Buy         IT.ico         MTA         TPRO         6.795         277         18	3672
1ZAZHWDM3 29/08/2025 17:11:31 Buy IT.ico MTA TPRO 6.795 277 18	3128
· · · · · · · · · · · · · · · · · · ·	3710.07
1ZAZHWDMC 29/08/2025 17:11:33 Buy IT.ico MTA TPRO 6.8 426 28	1882.215
	2896.8
<b>1ZAZHWDMD</b> 29/08/2025 17:11:33 Buy IT.ico MTA TPRO 6.8 574 39	3903.2
1ZAZHWDO5 29/08/2025 17:12:50 Buy IT.ico MTA TPRO 6.805 174 1:	1184.07
<b>1ZAZHWDO6</b> 29/08/2025 17:12:50 Buy IT.ico MTA TPRO 6.805 78 53	530.79
1ZAZHWDO7 29/08/2025 17:12:50 Buy IT.ico MTA TPRO 6.805 220 14	1497.1
<b>1ZAZHWDOT</b> 29/08/2025 17:13:17 Buy IT.ico MTA TPRO 6.805 48 32	326.64
<b>1ZAZHWDOU</b> 29/08/2025 17:13:17 Buy IT.ico MTA TPRO 6.805 695 4:	1729.475
<b>1ZAZHWDPS</b> 29/08/2025 17:14:22 Buy IT.ico MTA TPRO 6.805 92 62	626.06
1ZAZHWDPT 29/08/2025 17:14:22 Buy IT.ico MTA TPRO 6.805 1,000 68	6805
1ZAZHWDS5 29/08/2025 17:15:44 Buy IT.ico MTA TPRO 6.8 1,000 68	6800
<b>1ZAZHWDUQ</b> 29/08/2025 17:17:37 Buy IT.ico MTA TPRO 6.8 520 38	3536
1ZAZHWDUR 29/08/2025 17:17:38 Buy IT.ico MTA TPRO 6.8 14 99	









			_						
1ZAZHWDVV	29/08/2025	17:18:31	Buy	IT.ico	MTA	TPRO	6.805	1,000	6805
1ZAZHWDW2	29/08/2025	17:18:36	Buy	IT.ico	MTA	TPRO	6.805	642	4368.81
1ZAZHWE25	29/08/2025	17:22:13	Buy	IT.ico	MTA	TPRO	6.795	1,000	6795
1ZAZHWE26	29/08/2025	17:22:13	Buy	IT.ico	MTA	TPRO	6.795	641	4355.595
1ZAZHWE27	29/08/2025	17:22:13	Buy	IT.ico	MTA	TPRO	6.795	94	638.73
1ZAZHWE28	29/08/2025	17:22:13	Buy	IT.ico	MTA	TPRO	6.795	631	4287.645
1ZAZHWE2Z	29/08/2025	17:23:03	Buy	IT.ico	MTA	TPRO	6.795	26	176.67
1ZAZHWE34	29/08/2025	17:23:13	Buy	IT.ico	MTA	TPRO	6.795	158	1073.61
1ZAZHWE35	29/08/2025	17:23:20	Buy	IT.ico	MTA	TPRO	6.795	99	672.705
1ZAZHWE3G	29/08/2025	17:23:32	Buy	IT.ico	MTA	TPRO	6.795	604	4104.18
1ZAZHWE3J	29/08/2025	17:23:41	Buy	IT.ico	MTA	TPRO	6.795	15	101.925
1ZAZHWE4X	29/08/2025	17:24:47	Buy	IT.ico	MTA	TPRO	6.795	600	4077
1ZAZHWE4Y	29/08/2025	17:24:47	Buy	IT.ico	MTA	TPRO	6.795	400	2718
1ZAZHWE4Z	29/08/2025	17:24:49	Buy	IT.ico	MTA	TPRO	6.795	147	998.865
1ZAZHWE50	29/08/2025	17:24:51	Buy	IT.ico	MTA	TPRO	6.795	83	563.985
1ZAZHWE5L	29/08/2025	17:25:21	Buy	IT.ico	MTA	TPRO	6.795	15	101.925
1ZAZHWEB8	29/08/2025	17:27:40	Buy	IT.ico	MTA	TPRO	6.8	94	639.2
1ZAZHWEB9	29/08/2025	17:27:40	Buy	IT.ico	MTA	TPRO	6.8	231	1570.8
1ZAZHWEBA	29/08/2025	17:27:40	Buy	IT.ico	MTA	TPRO	6.8	107	727.6
1ZAZHWEBB	29/08/2025	17:27:40	Buy	IT.ico	MTA	TPRO	6.8	568	3862.4
1ZAZHWEC0	29/08/2025	17:27:59	Buy	IT.ico	MTA	TPRO	6.8	181	1230.8

Fine Comunicato n.20250-68-2025

Numero di Pagine: 27